Reading an Oracle AWR Report

Below is one personds approach to reading an
complete explanation of all the information contained within the report, just a list of plestastto

Threethings to keep in mind throughout:
(1) SQL Time
When Oracle gets a SQL it does one of two things:
a) Processes the SQL; or
b) Waits for something to become available so it can process the SQL

The formula is
DB_TIME = DB_CPU + WAIT_TIME

Where WAIT_TIME = I/O_WAIT + OTHER_WAIT
Ideal distribution of time is
DB_TIME = DB_CPU + I/O_WAIT + OTHER_WAIT
100% = 70% + 20% + 10%
The goal is to first reduce the wait time and then reduce the CPU time

(2) TOTAL vs. PEREXEC

Oracle Automat e:

Or acl es 6 s heANReepdrtiistoeshow things that are consuming the latg@$tresources. This is not always what

you need to tune your system. If you have many, many very fast SQL that are executed very often the total elapsed time (or
CPU time or wait time) may beery large. These SQL will appear on the AWR report but you may not see a SQL that is
executed only once even though it takes a very long time because its total time is too low. Be sure to look dEXIEEPER

column as well as the TOTAL column.

(3) CTRL-Click

All of the links in the AWR report are active. Youayhave to hold down the CTRL key and then click the link

Enjoy,
Ken Gottry
Oct-2013



WORKLOAD REPOSITORY report for

[DSILAPRD || 3478342303 [DSILAPRD | 1[102.040 [NO  |[lavpdsidbla0l
B - | o | oo | Cusorssesson |
[Begin Snap: | 26729  19-Oct-12 14:00.08 | 163 | 43.8
[End Snap: | 26731 19-Oct-12 16:00:15 | 129 | 423
|Elapsed: | \ 120.11 (mins) \ |

|DB Time: | ] 347.74 (mins) ] |

Report Summary

Comment [K1]:

HOW BUSY IS YOUR DATABASE SERVER?

TheOperating System Statistics section says
there are 8 CPUOs.

The ELAPSED time for this AWR is 120.11
minutes. Therefore, the total number of available
CPU minutes is 960.88.

TheTop 5 Timed Events section says th&TPU
TIME is 14,195 seconds which is 236.5 CPU
minutes.

Therefore, your database server is 236.5 / 960.8¢
24.6% busy

| Comment [K2]:

/| VOLATILE DATA = Redo Per Second

Whenever your app changes data, Oracle must v
the change to the REDO log for recoverability.

If your app is changing a lot of data, the REDO P
SECOND will be very hi
which isn6t too bad. |
look at Log Buffers and Log Switches.

Remember: a write to REDO log is a stiye-world
activity, all SQL is temporarily paused until the
REDO write is complete
REDO or if the writes are slow, you will see very
erratic SQL response time.

Cache Sizes
| [ begn | End | |
[Buffer Cache: | 20,256M | 20,720M [Std Block Size: | 8K
[Shared Pool Size: | 23,440M | 22,976M [Log Buffer: | 14,244K
Load Profile
|
|Redo size: | 072,945.95 | 335,482.12
|Logical reads: | 187,401.60 | 24,361.62
[Block changes: | 2,183.15 | 283.80
|Physica| reads: | 35.54 ] 4.62
[Physical writes: | 22.88 | 2.97
[User calls: | 93.82 | 12.20
[Parses: | 210.84 | 27.41
|Hard parses: | 6.55 ] 0.85

~ | Comment [K3]:

UNIT OF WORK (UOW) = Redo Per Trans

How much work is your database doing between
COMMIT calls? An OLTP app typically has a sm:
UOW (i.e. issues a COMMIT very often), while a
data load program may have a UOW that is
controlled by a properties file.

A large UOW means large Redo writes.




| Comment [K4]:

SIZE OF TRANS = Executes Per Trans

The Executes Pdrransaction tells how many SQL
calls your app is making inside a transaction. Thit
example is executing 444 SQL calls for each
transactions.

Some people only look at the Transactions Per
Second. But that can be misleading unless you ki
how many SQLs arexecuted per transaction.

|Sorts: | 351.77 | 45.73
|Logons: | 0.26 | 0.03
[Executes: | 3,417.24 | k44.23
[Transactions: | 7.69 |

|% Blocks changed per Read: 1.16 |Recursive Call %: | 99.07
|Rollback per transaction %: 0.34 |Rows per Sort: | 32.44
Instance Efficiency Percentages (Target 100%)

[Buffer Nowait %: | 100.00 [Redo Nowait %: [ 100.00
[Buffer Hit %: [ 99.98 [In-memory Sort %: [ 100.00
|Library Hit %: | 99.52[soft Parse %: | o6.89
[Execute to Parse %: | 93.83 [Latch Hit %: | 99.99
|Parse CPU to Parse Elapsd %: | 81.80|% Non-Parse CPU: [ 99.14

Shared Pool Statistics

[Memory Usage %: | 78.18 | 76.67
[% SQL with executions>1: | 95.12 | 99.89
|% Memory for SQL w/exec>1: | 93.43 | 99.11

fTop 5 Timed Events |

[cPu time [ 14195 | 68.0 |

[db file sequential read |248,708 [ 4363 18 | 20.9 [User 110
[RMAN backup & recovery 110 (379,510 | 1,967 | 5| 9.4 [System 1/0
|log file parallel write | 30,944 | 589 | 19 | 2.8 |System 110
[log file sync [ 9,854 349 | 35 | 1.7 [Commit

/| Comment [K5]:

BREAKDOWN OF DB TIME

At the top it said ELAPSED TIME =120.11 minute
During that elapsed time, Oracle was working on
SQL for 347.74 minutes.

The 347.74 is DB TIME which is made up of CPL
TIME + I/O TIME + WAIT TIME.

Thistable should show CPU TIME = 70%, 1/O
TIME = 20% and WAIT TIME =10%. This one is
pretty close.

However, whenever | see LOG FILE SYNC in the
Top Five | investigate further since this is a stog
world wait.

The Time(s) shows that only 349 seconds wpens
waiting for Writes to the Redo Log . . . but the Av(
Wait was 35ms. That is *extremely* slow. Writes
Redo should be-40ms max. Have your storage
folks look into it




Main Report

" Comment [K6]:

Report Summary

Wait Events Statistics
SOL Statistics

Instance Activity Statistics
10 Stats

Buffer Pool Statistics
Advisory Statistics

Wait Statistics

Undo Statistics

Latch Statistics

Segment Statistics
Dictionary Cache Statistics
Library Cache Statistics
Memory Statistics
Streams Statistics
Resource Limit Statistics
init.ora Parameters

R I I |

Back to Top

Wait Events Statistics

Time Model Statistics
Wait Class

\Wait Events |

{ Comment [K7]:

Backaround Wait Events
Operating System Statistics
Service Statistics

Service Wait Class Stats

e I ]

Back to Top

Time Model Statistics

WHAT NEXT?

Lots of place you can go from here. There is no ri
or wrong pathLearn your database and try to alwi
follow the same path.

When 1 6m |l ooking at an

normally start with SEGMENT STATISTICS. This

helps me understand the SQL better. | suggest yt

jump to that section now and then come back to t

point.
L

J

After SEGMENT STATISTICS, | look at WAIT
EVENTS.

Remember when Oracle receives a SQL to proce
the total time is called DB TIME. That is divided
into actually working on the SQL (DB CPU) and
waiting for something.
falls into many categories which is what the WAIT

L EVENTS section will show

J




I Total time in database user-calls (DB Time): 20864.5s
| statistics including the word "background" measure background process time, and so do not contribute to the DB time statistic
I Ordered by % or DB time desc, Statistic name

Time 5
|sq| execute elapsed time |20,476.0l | 98.14
[bB CPU [14,194.57 | 68.03
[RMAN cpu time (backup/restore) [ 371121 17.79
[PL/SQL execution elapsed time [ 2,417.67] 1159
|parse time elapsed | 197.24 | 0.95
|connection management call elapsed time | 138.73 | 0.66
|hard parse elapsed time | 11408 0.55
[PL/SQL compilation elapsed time |  56.85 0.27
|sequence load elapsed time [ 738 0.04
|Java execution elapsed time | 4.78 | 0.02
inbound PL/SQL rpc elapsed time | 3.66 | 0.02
[repeated bind elapsed time | 1.78] 0.01
|hard parse (sharing criteria) elapsed time | 0.77 | 0.00
|hard parse (bind mismatch) elapsed time | 0.37 | 0.00
|failed parse elapsed time | 0.34 | 0.00
[DB time [20,864.48 |

|background elapsed time | 6,962.63 |

|background cpu time | 3,783.03 |

Back to Wait Events Statistics
Back to Top

Wait Class

s - second

cs - centisecond - 100th of a second

ms - millisecond - 1000th of a second

us - microsecond - 1000000th of a second
ordered by wait time desc, waits desc

= =8 =8 -8 -



[user o [250,820 | 0.00 | 4,398 | 18| 452
[System /0 [465,663 | 0.00]| 2,746 | 6| 8.40
[Commit [ o854 0.91 349 | 35 | 0.18
[other [ 668 9.13] 72| 107 | 0.01
|Concurrency | 89,198 | 0.01 62 1| 1.61
[Configuration | 123 36.59 | 19 151 | 0.00
[Application | 1,341 0.22 | 17| 13 0.02
[Network [754,112 | 0.00 | 6| 0| 13.60
[Administrative | 6 0.00 | 3| 482 | 0.00

Back to Wait Events Statistics

Back to Top
Wait Events| [ comment s
WAIT EVENTS
s- secon_d The list of wait events is sorted by the TOTAL
I cs-centisecond - 100th of a second WAIT TIME. So the top wait event could have tol
f ms - millisecond - 1000th of a second and tons of waits each one very short, or it could
I us - microsecond - 1000000th of a second have a few waits eagine very, very long.
I ordered by wait time desc, waits desc (idle events last) Be sure to check the AVG WAIT. For I/O waits

(including LOG FILE waits), a reasonable avg wa

= . — = : time is 410ms. This AWR shows very slow I/O.
[ Een | | wotime ouis | ANTRINY®) | AYARIEINGI) | Wais fon A it i e
|db file sequential read [248,708 | 0.00 | 4,363 | 18| 4.49 subscribed disks on a shared storage devicé)
tons of SQL that are overwhelming the disks.

[RMAN backup & recovery 1/0 379,510 | 0.0 1,967 | 5 6.85 Remember that each disk has finite limits in term:
[log file parallel write [ 30,944 0.00 | 589 | 19 0.56 MB/sec transfer and I/O per second (IOPS)

[log file sync [ 9854 0.91 349 | 35 0.18

[control file parallel write [ 3,002 0.00 | 107 | 27 | 0.07

[buffer exterminate [ e0f 95.00 | 56 | 939 | 0.00

|Log archive 110 [ 2,087 0.00 | 42 | 20 | 0.04

[latch: library cache [ 87,074 0.00 | 41 | 0| 157

[log file sequential read [ 2171 0.00 | 37 | 17]| 0.04

|db file scattered read | 1541 0.00 | 36| 23 0.03

|enq: UL - contention | 35 | 8.57 | 17 | 479 | 0.00




[latch: shared pool [ 1,751 0.00 | 17| 9| 0.03
[log buffer space [ 35 0.00 | 11| 327 | 0.00
leng: TC - contention | 5| 60.00 | 11| 2205 | 0.00
[log file switch completion | 39 | 0.00 | il 178 | 0.00
|os thread startup [ 20| 5.00 | 4| 209 | 0.00
[latch free [ 112 0.00 | 3| 31| 0.00
[SQL*Net more data from client [ 32,258 | 0.00 | 3| 0| 0.58
|switch logfile command | 6 | 0.00 | 3 | 482 | 0.00
|contr0| file sequential read | 46,914 | 0.00 | 3 | 0 | 0.85
[SQL*Net message to client [690,380 | 0.00 | 1| 0| 12.45
[log file single write [ 40| 0.00 | 1] 18| 0.00
[SQL*Net more data to client [ 31,433 0.00 | 1| 0| 0.57
[recovery area: computing obsolete files | 3| 0.00 | 1| 201 | 0.00
[SQL*Net breakireset to client [ 1,306 | 0.00 | 1| 0| 0.02
[TCP Socket (KGAS) [ a4 0.00 | 0 12 0.00
[log file switch (private strand flush incomplete) | 3| 0.00 | 0| 53 | 0.00
|cursor: pin S wait on X | 14 | 85.71 | 0 | 9 | 0.00
leng: CF - contention | 4| 0.00 | o 28| 0.00
|contro| file single write | 95 | 0.00 | 0 | 1 | 0.00
[library cache load lock | 1| 0.00 | o 85 | 0.00
[b file single write [ 10] 0.00 | 0| 5| 0.00
[eng: AU - audit index file | 3 0.00 | 0| 13| 0.00
[latch: cache buffers chains [ 201 0.00 | o 0| 0.00
]Iatch: session allocation | 110 | 0.00 | 0 I 0 | 0.00
|Iatch: cache buffer handles | 59 | 0.00 | 0 | 0 | 0.00
[rdbms ipc reply [ 33 0.00 | 0| 0| 0.00
[LGWR wait for redo copy [ 180] 0.00 | 0| 0| 0.00
[latch: redo allocation | 40| 0.00 | 0 0| 0.00
[latch: cache buffers Iru chain | 17| 0.00 | 0| 0| 0.00
|Iatch: library cache pin | 16 | 0.00 | 0 | 0 | 0.00
[latch: library cache lock [ 22 0.00 | o 0| 0.00
buffer busy waits [ e6] 0.00 | 0| 0| 0.00
|Iatch: row cache objects | 27 | 0.00 | 0 | 0 | 0.00
leng: JS - queue lock | 1| 0.00 | 0 2 0.00




|recovew area: computing backed up files | 3 | 0.00 | 0 | 0 | 0.00
[recovery area: computing dropped files | 3| 0.00 | 0| 0| 0.00
|direct path read [ 270 0.00 | 0| 0| 0.00
[latch: In memory undo latch | 6 | 0.00 | o 0| 0.00
[latch: object queue header operation | 13 0.00 | o 0| 0.00
[direct path write [ 201 0.00 | 0 0| 0.01
|recovew area: computing applied logs | 3 | 0.00 | 0 | 0 | 0.00
[cursor: pin S [ 18] 0.00 | 0| 0| 0.00
|undo segment extension | 46 | 97.83 | 0 | 0 | 0.00
[buffer deadlock | 1| 100.00 | 0 0| 0.00
[SQL*Net message from client (690,413 | 0.00 | 643,405 | 932 12.45
[pipe get [ 11,876 | 95.55 | 49,224/ 4145 | 0.21
[PL/SQL lock timer [ 756 97.49 | 15,608 | 20645 | 0.01
iobg slave wait [ 2814 93.78 | 8,087 | 2874 | 0.05
|wait for unread message on broadcast channel [ 7,206 | 99.67 | 7,036 | 976 | 0.13
|Streams AQ: waiting for messages in the queue [ 1,465 98.36 | 7,035 | 4802 | 0.03
[Streams AQ: gmn slave idle wait [ 256 0.00 | 7,021 | 27427 | 0.00
|Streams AQ: gmn coordinator idle wait [ 534 52.06 | 7,021 | 13148 | 0.01
|virtual circuit status [ 240] 100.00 | 7,020 | 29249 | 0.00
|Streams AQ: waiting for time management or cleanup tasks | 12 | 100.00 | 3,323 | 276910 | 0.00
[SGA: MMAN sleep for component shrink [ 1,356 99.56 | 15| 11| 0.02
[class slave wait | 3 0.00 | 0| 0| 0.00

Back to Wait Events Statistics
Back to Top

Background Wait Events

|  ordered by wait time desc, waits desc (idle events last)

Total it Time () | Avg vt (mo)

[log file parallel write [30,945| 0.00 | 589 | 19 0.56
|control file parallel write | 2,561 0.00 | 93 | 36 | 0.05
Log archive 110 [ 1,920 0.00 | 42| 22| 0.03




[log file sequential read [ 1,998 | 0.00 | 35 | 17| 0.04
|os thread startup [ 20 5.00 | 4| 209 | 0.00
[log file single write [ 40| 0.00 | 1 18| 0.00
[control file sequential read [ 6,200 | 0.00 | 0| 0| 0.11
[latch: shared pool | 71| 0.00 | 0| 3| 0.00
|events in waitclass Other | 213 | 0.00 | 0 | 0 | 0.00
|direct path read [ 270 0.00 | 0| 0| 0.00
[direct path write [ 269 0.00 | 0| 0| 0.00
[latch: library cache | 3 0.00 | 0| 0| 0.00
[buffer busy waits | 1| 0.00 | 0| 0| 0.00
[rdbms ipc message [48,462 | 47.11 | 75,223 | 1552 | 0.87
[pmon timer [ 2,534 99.72 | 7,036 | 2777 | 0.05
[smon timer | 2,267 | 0.00 | 7,031 | 3102 | 0.04
[Streams AQ: gmn slave idle wait [ 256 | 0.00 | 7,021 | 27427 | 0.00
|streams AQ: gmn coordinator idle wait [ 534 52.06 | 7,021 | 13148 | 0.01
|Streams AQ: waiting for time management or cleanup tasks | 12| 100.00 | 3,323 276910 | 0.00
[SGA: MMAN sleep for component shrink [ 1,356 | 99.56 | 15| 11 0.02

Back to Wait Events Statistics
Back to Top

Operating System Statistics|

[BUSY_TIME [ 1,349,404
[IDLE_TIME [ 4417862
[lOWAIT_TIME | 540,774
[NICE_TIME | 17
[sYs_TIME | 72,620
[USER_TIME | 1,186,273
[LoAD | 1
[RSRC_MGR_CPU_WAIT_TIME | 0

|PHYSICAL_MEMORY_BYTES |84,434,93l,712

[NUM_cPus | 8

Comment [K9]:
Check to be sure the OS has enough CPU.

BUSY TIME is roughly equal to USER_TIME +
SYS_TIME.

TOTAL TIME = BUSY_TIME + IDLE_TIME
TOTAL TIME = 1.349M + 4.417M
TOTAL TIME = 5.766M

PCT_BUSY =1.349M / 5.766M
PCT_BUSY = 23.4%

No problem there




Back to Wait Events Statistics
Back to Top

Service Statistics

 ordered by DB Time

[SYS$USERS | 2054470 14,004.20]| 250,969 | 1,344,457,307
[DSILAPRD.latimes.com | 319.90 | 100.40 | 4,313 6,196,945
[DSICTPRDXDB | 0.00 | 0.00 | 0| 0
|[SYS$BACKGROUND | 0.00 | 0.00 | 892 | 61,661

Back to Wait Events Statistics
Back to Top

Service Wait Class Stats

I wait Class info for services in the Service Statistics section.
I Total Waits and Time Waited displayed for the following wait classes: User I/O, Concurrency, Administrative, Network
Time Waited (Wt Time) in centisecond (100th of a second)

Saviee Neme User 1/O Total User 1/0 Wt Concurcy Total Concurcy Wt Admin Total Admin Wt Network Total Network Wt
Wts Time Wts Time Wts Time Wts Time

|[SYS$USERS 245332 | 420175 | 86789 | 4672 | 289 | 712789 |
[DSILAPRD.latimes.com | 4321 9386 | 1793 | 798| 0 | o 34180 | 58
|[SYS$BACKGROUND | 1175 | 1287 | 157 | 589 | o 0| 0| 0

Back to Wait Events Statistics
Back to Top

SQL Statistics

f SOL ordered by Elapsed Time
Y SOL ordered by CPU Time




SOL ordered by Gets

SOL ordered by Reads

SOL ordered by Executions

SOL ordered by Parse Calls

SOL ordered by Sharable Memory
SOL ordered by Version Count
Complete List of SOL Text

=a =& =& —a —a —a 9

| Comment [K10]:
Back to Top /| TOTAL ELAPSED vs. ELAPSED PER EXEC
SQ |_ (@) I'd erEd by El ap S ed TI me This section does not necessarily help you identit
SQL that needs to be ted. This section lists SQL
that are consuming the most time. That could be
1 Resources reported for PL/SQL code includes the resources used by all SQL statements called by the code. SQL that is very, very fast, but executed many, i
% Total DB Time is the Elapsed Time of the SQL statement divided into the Total Database Time multiplied by 100 Es,
Look for two things:
©) 2 Ol K4 Q Q Q (2) EXECUTIONS to find SQL that are executer
| P, 561\ [ 2,553 | 24,608 | 0.10 | 12.27 |05qwz57k 7fwsj |SELECT /*+ ORDERED use_nl(subs... quite often.
| 1,684 | 1,207 | 53 | 31.78 | 8.07 [3p6uywr76z4k5 |d5|.exe |BEGIN :rc := SECURITY.... { comment [K11]:
| 1,222 | 11,046] | 1 122223 5.86 [qw1v6y00jz3nr | |DECLARE job BINARY_INTEGER := HIGH CPU TIME
| 949 | 949 | 1 949.48 | 4.55 |35andu44s5fa0 | |DECLARE job BINARY_INTEGER :=
| 857 | 716 | 1| 856.86 | 4.11 [5tlygvubzndkc [dsi.exe [BEGIN circ.addr_subacct.route_... When Oracle processes a SQL it does one of twc
- - things: (1) executes the SQL; or (2) waits for
| 806 | 530 | 1 806.36 | 3.86 [bxpsadnmcfifg | |DECLARE job BINARY_INTEGER := something in order to be able to execute. Waiting
| 742 | 542 | 1| 741.99 | 3.56 [45uuqtn59i3ud [dsi.exe |[SELECT "CIRC"."SUBSCRIPTION"... fgils into 2 I;ﬂajorhcategorieS: (1) waiting for I/O; ai
waiting for other.
| 730 | 23 1 729.95 | 3.50 [6qq9dagrs5h0Oh | |DECLARE job BINARY_INTEGER := @ 9
| 730 | 23| 1| 729.80 | 3.50 [7tz40fck7szkg | |[SELECT ALIAS_ACCT_SET ALIAS_AC... This SQL wasexecuted once. Of the 20 minutes
. S elapsed time, 17 minutes was CPU time. So we
| 643 | 643 | 24,608 | 0.03 | 3.08 [289s3yd6epfnp | |SELECT /*+ ORDERED * COUNT(DI... know this SQL is not walting for 1O or other.
| 562 | 151 1 562.05 | 2.69 [bu96mupzvbwir | [DECLARE job BINARY_INTEGER := . e Iooks hroudh data but
When Oracle looks through data buffers trying to
| 551 | 145 | 1| 550.95 | 2.64 |d7nvkg43z6hms | |SELECT SYMBOL SYMBOL, ACCOUNT ... find matching rows, the time counts as CPU. Whe
| 533 | 532 | 1| 533.50 | 2.56 [ckr8g65hugaw6 | [DECLARE job BINARY_INTEGER = ... the CPU time is almost as high the ELAPSED
- - time, it often means the WHERE clause is not vel
| 525 | 524 | 1| 524.80 | 2.52 [7cm2x28dxag54 | |DECLARE job BINARY_INTEGER : RS AT R 2R 5 e e T
| 518 | 516 | 1| 517.63 | 2.48 |7n6ljwpir7iy2 | |DECLARE job BINARY_INTEGER := ... buffers looking for matching rows.
| 509 | 503 | 1 508.59 | 2.44 [1cnplzyhy47xz | |DECLARE job BINARY_INTEGER = ... | Comment [K12]:
| ka1 | 37| | 440.67 | 2.11 [8wahmwfhwp424 [dsi.exe [BEGIN CIRC.VW_SUBS_REF... Y
| 435 | 308 | 2,292,706 | 0.00 | 2.08 [2sswh0d43wufl |[dsi.exe [SELECT 'Y' FROM DUAL WHERE EXI...
- This SQL executed once. Of the 7 minutes elapst
] ] gb8h4g : ; , ; >
| 428 | 35| 1| 427.90 | 2.05 |bkugb8h4g6dh6 |[dsi.exe |SELECT SUB.ACCOUNT, TRANS_DAT time, only 30 seconds was CPU. Therefdhis SOL
was waiting, either for I/O or contention.




| 410 393 | 9,805 | 0.04 | 1.97 [765aawdsphw03 | |[SELECT P.PACKAGE_NUMBER, P.RE...
| 390 | 264 | 2 195.00 | 1.87 [Lnmk3m3sxw19z [dsi.exe [BEGIN circ.subs_import.p_subs._...

| 355 | 355 | 2,186 | 0.16| 1.70 [cqOx2jabc4381 | |SELECT /*+ ORDERED use_ni(subs...

| 347 | 16 | 586 | 0.59 | 1.66 [290jhucv8bu3g [IDBC Thin Client [SELECT PAPER_CODE, PROD_CODE,...
| 333 | 5| 578 | 0.58| 1.59 [gpsgysttf8ccd  [IDBC Thin Client [SELECT /*+ ordered use_nl(sb s...

| 290 | 41 | 3,573 0.08 | 1.39 [10mu2x59guzwv [dsi.exe [SELECT "CIRC"."VW_SUBS_TRANS...

| 287 | 17| 5| 57.47 | 1.38 [8m8dvpOk4viah | |[SELECT /*+ ORDERED USE_NL(TR)...

| 240 | 240 | 0| | 1.15 [cffrgk300fnyg | [DECLARE job BINARY_INTEGER = ...

Back to SQL Statistics
Back to Top

SQL ordered by CPU Time

Resources reported for PL/SQL code includes the resources used by all SQL statements called by the code.
% Total DB Time is the Elapsed Time of the SQL statement divided into the Total Database Time multiplied by 100

CPU Time (s) | Elapsed Time (s) CPU per Exec (s) | % Total DB Time SQL Id SQL Module SQL Text

-| Comment [K13]:

TOTAL CPU vs. CPU PER EXEC

Just as with Elapsed time, this report shows SQL
used the mogbtal CPU. That could be a SQL that
was executed many, many times and used only &
little CPU each tire; or, it could be a SQL that was
executed only a few times but used a ton of CPU
each time.

Be sure to check the EXECUTIONS column as w
as the CPU PER EXEC column

| 2,553 | 2,561 | 24,608 | 0.10 | 12.27 [05qwz57k 7fwsj | [SELECT /*+ ORDERED use_nl(subs...

| 1,207 | 1,684 | 53 | 22.77 8.07 [3p6uywr76z4k5 |[dsi.exe [BEGIN :rc := SECURITY....

| 1,046 | 1,222 1 1045.74 | 5.86 [qw1v6y00jz3nr | [DECLARE job BINARY_INTEGER := ...

| 949 | 949 | 1 948.95 | 4.55 [35andu44s5fa0 [ [DECLARE job BINARY_INTEGER := ...

| 716 | 857 | 1 715.89 | 4.11 [5tlygvubzndke |dsi.exe [BEGIN circ.addr_subacct.route_...

| 643 | 643 | 24,608 | 0.03 | 3.08 [289s3yd6epfnp || |[SELECT /*+ ORDERED * COUNT(DI...

| 542 | 742 | 1| 542.30 | 3.56 [45uuqtn59i3ud [dsi.exe [SELECT "CIRC"."SUBSCRIPTION"...

| 532 | 533 | 1 532.02 | 2.56 [ckr8g65hugaw6 || |DECLARE job BINARY_INTEGER := ...

| 530 | 806 | 1 529.60 | 3.86 [bxps4dnmcfifg | [DECLARE job BINARY_INTEGER = ...

| 524 | 525 | 1 523.88 | 252 |7cm2x28dxag54 | |DECLARE job BINARY_INTEGER := ...

| 516 | 518 | 1| 515.82 | 2.48 [7n61jwpir71y2 | [DECLARE job BINARY_INTEGER := ...

| 503 | 509 | 1 503.03 | 2.44 [1cnplzyhya7xz | [DECLARE job BINARY_INTEGER := ...

| 303 | 410 9,805 | 0.04 | 1.97 [765aawdsphw03 | |[SELECT P.PACKAGE_NUMBER, P.RE...
| 355 | 355 | 2,186 | 0.16 | 1.70 [cq0x2jabc4381] | [SELECT /*+ ORDERED use_ni(subs...

| 308 | 435[ 2,292,706 | 0.00 | 2.08 [2sswh0d43wufl [dsi.exe [SELECT 'Y' FROM DUAL WHERE EXI...
| 264 390 | 2 132.08 | 1.87[1nmk3m3sxw19z [dsi.exe [BEGIN circ.subs_import.p_subs_...

Comment [K14]:
FULL SQL TEXT

Oracle assigns a unique SQL_ID to each SQL
executed. This section dfé report shows the first
few characters of the SQL. Click on the SQL_ID t
jump to the full SQL text.




| 240 | 240 | 0| | 1.15 [cffrgk300fnyq | [DECLARE job BINARY_INTEGER := ...

| 151 562 | 1 151.38 | 2.69 [bu96mupzvbwir | |DECLARE job BINARY_INTEGER := ...

| 145 | 551 | 1| 145.34 | 2.64 [d7nvkg43z6hms | |SELECT SYMBOL SYMBOL, ACCOUNT ...
| 41| 290 | 3,573 0.01 1.39 [10mu2x59quzwv  |[dsi.exe |SELECT "CIRC"."VW_SUBS_TRANS...

| 37| 441 | 1| 37.31 | 2.11 [swahmwfhwp424 [dsi.exe [BEGIN CIRC.VW_SUBS_REF...

| 35| 428 1 34.78 | 2.05 |bkugb8h4g6dh6 [dsi.exe |SELECT SUB.ACCOUNT, TRANS_DAT...
| 23| 730 | 1| 2258 | 3.50 [ag9dagrsshoh | [DECLARE job BINARY_INTEGER := ...

| 23| 730 | 1 22.55 | 3.50 |7tz40fck7szkg | |SELECT ALIAS_ACCT_SET ALIAS_AC...
| 17| 287 | 5 343 1.38 [8m8dvpOk4viah | [SELECT /*+ ORDERED USE_NL(TR)...

| 16 | 347 | 586 | 0.03| 1.66 [290jhucv8bu3g [JDBC Thin Client [SELECT PAPER_CODE, PROD_CODE,...
| 5| 333 578 | 0.01 | 1.59 [gpsaysttfgccd [IDBC Thin Client [SELECT /*+ ordered use_nl(sb s...

Back to SQL Statistics
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SQL ordered by Gets

Resources reported for PL/SQL code includes the resources used by all SQL statements called by the code.

1
9 Total Buffer Gets: 1,350,535,281
I Captured SQL account for 96.3% of Total

Buffer Gets CPU Time (s) | Elapsed Time (s) SQL Id SQL Module SQL Text

[ 388,210,841 | 24,608 | 15,775.80 | 28.74 | 2553.05 | 2560.52 [05qwz57k7fwsj | |SELECT /*+ ORDERED use_nl(subs...
[ 291,205,396 | 24,608 | 11,833.77 | 21.56 | 643.17 | 643.30 [289s3yd6epinp | |[SELECT /*+ ORDERED * COUNT(DI...
[ 283,950,995 | 9,805 | 28,959.82 | 21.03 393.06 | 410.23 [765aawdsphw03 | |[SELECT P.PACKAGE_NUMBER, P.RE...
| 171,471,143 | 1 171,471,143.00| 12.70 | 948.95 | 949.48 [35andu44s5fa0 | |DECLARE job BINARY_INTEGER := ...
| 105,857,445 | 1| 10585744500 7.84| 529.60 | 806.36 [bxpsadnmcfifg | [DECLARE job BINARY_INTEGER := ...
| 104,838,358 | 1|  104,838,358.00| 7.76| 532.02 | 533.50 |ckr8g65hugaw6 | |DECLARE job BINARY_INTEGER := ...
[ 104,178,684 | 1| 10417868400 7.71| 523.88 524.80 [7cm2x28dxag54 | [DECLARE job BINARY_INTEGER := ...
[ 103,463,651 | 1| 103,463,651.00| 7.66 515.82 517.63 [7n6liwpir7iy2 | [DECLARE job BINARY_INTEGER := ...
[ 103,182,036 | 1| 103,182,036.00 | 7.64| 503.03 | 508.59 [Lcnplzyhy47xz | [DECLARE job BINARY_INTEGER := ...
| 86,872,917 | 1 86,872,917.00 |  6.43 1045.74 | 1222.23 [gwivéy00iz3nr | [DECLARE job BINARY_INTEGER := ...
| 84,003,045 | 53| 1,586,661.23 |  6.23 1206.59 | 1684.48 [3p6uywr76z4k5 [dsi.exe [BEGIN :rc := SECURITY....

[ 78,251,817 1 78,251,817.00 | 5.79 115.59 | 138.84 [170543cbhcvym | [DECLARE job BINARY_INTEGER := ...

| Comment [K15]:

'| TOTAL BUFFER GETS vs. GETS PER EXEC

Just as with Elapsed Time and CPU Time, this re
shows SQL that has the mastal buffer gets. That
could bea SQL executed many, many times doin¢
very few buffer gets each time; or, it could be a S
that is executed very few times doing many, man
buffer gets each time.

Buffer Gets (also called Logical Reads) means th
data is already in the data buffer caelne Oracle is
trying to locate the rows that match the WHERE
clause.

There is no absolute @
execution. You need to observe your database o'
time to understand wha

Here you see many DECLARE jobs doing 100+NM
buffer gets each time they execute compared to ¢
SELECT statements that only do 15K.

A high number of Buffer Gets means two things: |
Oracle is working very hard to locate the matchin
rows because of an unrestrictive WHERE clause
bad/missing indees; and (2) high CPU since Orac
counts the time itos d




[ 69,061,779 | 1| 69,061,779.00 |  5.11 101.21 | 104.17 [360b1gOhqc3fg | [DECLARE job BINARY_INTEGER := ...

| 69,054,279 | 1 69,054,279.00 |  5.11 104.72 | 107.25 |fsk6ay4dx9s6h | |DECLARE job BINARY_INTEGER :=

| 68,763,798 | 1| 68,763,798.00 |  5.09 | 103.26 | 107.12 [78kumi80fb9zb | |DECLARE job BINARY_INTEGER := ...

| 62,451,992 | 2,186 | 28569.07 4.62| 355.28 355.41 [cq0x2jabc4381 | [SELECT /*+ ORDERED use_nl(subs...

| 50,793,616 | 0| [ 376 239.68 | 239.92 [cffrak300fnyg | [DECLARE job BINARY_INTEGER :=

[ 48,769,911 | 1 48,769,911.00 [ 3.61 | 715.89 | 856.86 [5tlygvubzndkc [dsi.exe [BEGIN circ.addr_subacct.route._...

| 28593817 | 1| 28593,817.00 | 2.12 148.60 | 149.60 [6pb91u7mf42zn | [DECLARE job BINARY_INTEGER :=

| 25,366,375 | 1 25,366,375.00 |  1.88 542.30 | 741.99 [45uuqtn593ud [dsi.exe |SELECT "CIRC"."SUBSCRIPTION"...

[ 25,237,492 2,292,706 | 1101 187 307.93 | 434.82 [2sswh0d43wufl |[dsi.exe [SELECT 'Y' FROM DUAL WHERE EXI...
| 25,126,395 | 1 25,126,395.00 |  1.86 | 151.38 | 562.05 [bu96mupzvbwir | [DECLARE job BINARY_INTEGER :=

| 25,125,985 | 1 25,125,985.00 |  1.86 145.34 | 550.95 [d7nvkq43z6hms | [SELECT SYMBOL SYMBOL, ACCOUNT ...
| 22,441,652 2,320,607 967 1.66| 156.57 | 164.46 [2hxytnmbzauvn [dsi.exe |[SELECT CANDIDATE.ROUTE, OFFIC...
| 22,017,442 1,196,040 | 1841 163 109.37 | 109.39 [gradmtaxwkdnw [JIDBC Thin Client [SELECT /+ ORDERED * QUANTITY...

[ 14,403,106 | 1 14,403,106.00 | 1.07| 37.31 440.67 [8wahmwfhwp424 [dsi.exe [BEGIN CIRC.VW_SUBS_REF...

[ 14,260,555 | 1| 14,260,555.00 |  1.06 | 34.78 | 427.90 |bkugb8h4g6dh6 |[dsi.exe |[SELECT SUB.ACCOUNT, TRANS_DAT...
[ 13,782,952 | 2 6,891,476.00 |  1.02 264.17 | 390.00 [1nmk3m3sxw19z [dsi.exe [BEGIN circ.subs_import.p_subs_...

| 13,650,051 | 1,832 7,450.90 | 1.01| 131.96 | 138.97 [3nh0x8xtj70fic  |dsi.exe |UPDATE CAR_ADJ_IMPORT SET ADJ_...

Physical Reads per % CPU Time EIapsedT|me

Back to SQL Statistics
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SQL ordered by Reads

|  Total Disk Reads: 256,153
I Captured SQL account for 90.7% of Total

| 38,897 | 38,897.00| 15.19 2258 | 729.95 [6gq9dagrs5hoh |DECLARE job BINARY_INTEGER :=
38,895 1 38,895.00 | 15.18 22.55 729.80 |7tz40fck7szkg SELECT ALIAS_ACCT_SET
ALIAS_AC...
| 35,606 | 53 | 671.81 13.90|  1206.59 | 1684.48 [3p6uywr76z4k5 [dsi.exe [BEGIN :rc := SECURITY....
| 30,382 | 1 30,382.00 | 11.86 37.31 | 440.67 [8wahmwfhwp424 [dsi.exe [BEGIN CIRC.vW_SUBS_REF...
29,629 1 29,629.00 | 11.57 34.78 427.90 |bkugb8h4q6dh6 |[dsi.exe SELECT SUB.ACCOUNT,
TRANS_DAT...

| Comment [K16]:

/ TOTAL PHYSICAL READS vs. READS PER

EXEC

Just as with the above sections, be sure to look &
Total Reads, Executions, and Reads Per Exec.

READS means physical readsis means the data
is not in the data buffer so Oracle must read the ¢
from disk. Reading disk igery slow compared to

searching data buffers (logical reads aka buffer g

Sometimes you may have a bad SQL or two that
continually do full table saw. This flushes out all
old data from the buffers. The next time a good S
executes it may have to do physical reads to get
data back into the buffers.

Therefore, a SQL that has a high number of phys
reads may not be bad in itself; it may justthe
victim of some other SQL continually flushing its
data from cache.




| 25,460 | 1] 25,460.00 9.94| 151.38 | 562.05 [bu96mupzvbwir | [DECLARE job BINARY_INTEGER := ...

‘ 25,455 | 1 | 25,455.00 ‘ 9.94 ‘ 145.34 ‘ 550.95 ‘d7nvk94326hms ‘SELECT SYMBOL SYMBOL, ACCOUNT

| 19,757 | 1 19,757.00  7.71]| 529.60 | 806.36 [bxpsadnmcfifg | |DECLARE job BINARY_INTEGER := ...

| 19,063 | 5| 381260 7.44 | 17.15 | 287.33 [8m8dvpOkdviah | |[SELECT /*+ ORDERED USE_NL(TR)...

| 13,122 | 1 13,122.00[ 5.12| 12.92 | 155.17 [atuyvvkdmac3r [dsi.exe [BEGIN circ.subs_update2.collec...

| 12,564 | 1| 12,564.00| 490 | 7.24 | 139.55 [b51y11la59mnv4 |[dsi.exe |SELECT /*+ ORDERED USE_NL(st s...

’ 12,427 | 586 | 2121 ‘ 4385 ‘ 16.15 ‘ 347.36 ‘2g0'hucv8bu3g ‘JDBC Thin Client ‘SELECT PAPER_CODE,
PROD_CODE,...

| 12,401 | 1| 12,401.00 | 4.84 | 542.30 | 741.99 [45uuqtn59i3ud [dsi.exe [SELECT "CIRC"."SUBSCRIPTION"...

| 12,383 | 578 | 2142 483 455 332.76 [gpsgysttf8ccd  [JDBC Thin Client [SELECT /*+ ordered use_ni(sb s...

| 11,385 | 1| 11,385.00 |  4.44 715.89 | 856.86 [Stlygvubzndkc [dsi.exe [BEGIN circ.addr_subacct.route_...

| 10,859 [ 2,292,706 | 0.00[ 4.24 307.93 | 434.82 [2sswh0d43wufl [dsi.exe [SELECT 'Y' FROM DUAL WHERE EXI...

| 10,849 | 1| 10,849.00 | 424 104574 | 1222.23 [qw1v6y00iz3nr | [DECLARE job BINARY_INTEGER := ...

’ 9,476 ‘ 24,062 ‘ 0.39 ‘ 3.70 ‘ 19.32 ‘ 158.96 ‘8797a0n‘1993a ‘pmdtm)@tco-chi-rptOZ (TNS ‘SELECT SEARCH_ORDER , 1 PRIOR...

V1-v3

| 8,406 | 3,573 235 328 40.89 | 289.58 [L0mu2x59guzwv [dsi.exe [SELECT "CIRC"."VW_SUBS_TRANS...

| 7,361 | 2 3,680.50 | 2.87| 264.17 | 390.00 [Lnmk3m3sxw19z |dsi.exe [BEGIN circ.subs_import.p_subs_...

‘ 7,035 | 723,142 | 0.01 ‘ 2.75 ‘ 84.39 ‘ 171.59 ‘Ogvx8ax90dzwn ‘pmdtm)@tco-chi-rptoz (TNS ‘SELECT * FROM ADDR.VW_ADDRESS

V1-v3

| 6,590 | 11| 599.00| 257 23.57 | 95.72 |ffi33x2dmzmob |dsi.exe [BEGIN :rc := CIRC.CAR_...

’ 5,973 | 1,826 | 3.27 ‘ 2.33 ‘ 18.15 ‘ 71.57 ‘8tuf999kdch9w dsi.exe SELECT UNALLOCATED FROM
VW_CAR...

‘ 5,479 | 143,095 | 0.04 ‘ 2.14 ‘ 23.53 ‘ 99.66 ‘1dgh26xv4u06f ‘JDBC Thin Client ‘SELECT TRANS_TYPE FROM
CIRC.VW...

| 3,249 | 1| 324900 127 101.73 | 154.91 [dbvnxxglhhdks | [SELECT /*+ ORDERED use_nl(SUBS...

| 3,195 699,175 | 000 1.25] 65.17 | 105.89 [2xf37ww4bsn2g [IDBC Thin Client [SELECT :B2, :B1, ROUTE.ROU...

Back to SQL Statistics
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SQL ordered by Executions

9  Total Executions: 24,626,830

I cCaptured SQL account for 65.8% of Total




. Rows Rows per CPU per Exec Elap per Exec
SQL 9 SQL Modue SQL rext

[ 2320607 | 2,294,304 | 0.99 | 0.00 | 0.00 [2hxytnmbzauvn |dsi.exe [SELECT CANDIDATE.ROUTE, OFFIC...
[ 2,292,706 | 2,292,641 | 1.00 | 0.00 | 0.00 [2sswh0d43wufl [dsi.exe |SELECT 'Y’ FROM DUAL WHERE EXI...
‘ 1,243,725 ‘ 1,243,725 ‘ 1.00 ‘ 0.00 ‘ 0.00 ‘6'ygkct4thSQ ‘w3wp.exe SELECT * FROM PRODUCT_CODE
WHE...
[ 1,196,040 | 1,243,387 | 1.04 0.00 | 0.00 [gr2dmtaxwkdnw [JDBC Thin Client |SELECT /*+ ORDERED * QUANTITY...
’ 1,182,881 ’ 1,182,881 ‘ 1.00 ‘ 0.00 ’ 0.00 ‘96c4ubgu90b9h ’w3wp.exe ‘SELECT PUB_PRODUCT_PAPER FROM
[ 811,388 811,388 | 1.00 | 0.00 | 0.00 [azmw77508saz1 [IDBC Thin Client [SELECT /*+ ORDERED INDEX(RATE...
‘ 811,293 ‘ 811,257 ‘ 1.00 ‘ 0.00 ‘ 0.00 |1cc4d8virpfoy ‘w3wp.exe SELECT * FROM
VW_SUBS_RATE_INF...
‘ 723,142 ‘ 721,432 ‘ 1.00 ‘ 0.00 ‘ 0.00 ‘OgvxSangdzwn pm)dtm@tco-chi-rptoz (TNS V1- ‘SELECT * FROM ADDR.VW_ADDRESS
V3
‘ 720,198 ‘ 720,180 ‘ 1.00 ‘ 0.00 ‘ 0.00 |cs0770ar3gcaz ‘pmdtm@tco-chi-rptoz (TNS V1- [SELECT * FROM
V3) VW_SUBS_NAME_ADD...
| 699,175 699,172 | 1.00 | 0.00 | 0.00 |2xf37ww4bsn2g |[JDBC Thin Client |SELECT :B2, :B1, ROUTE.ROU...
[ 689,107 689,107 | 1.00 | 0.00 | 0.00 [fnydp4a63pk9m |[dsi.exe |SELECT FIRST_DATE, LAST_DATEF...
[ 684,615 971,703 | 1.42 | 0.00 | 0.00 [6kpdsfoyupac3 |[w3wp.exe |SELECT /+ ORDERED INDEX(RATE...
[ 585810 585,810 | 1.00 | 0.00 | 0.00 [8in6s6r7yagvm [w3wp.exe [SELECT RATE_TABLE, TRUNC( NVL...
| 585808 686,283 | 117 0.00 | 0.00 [cmxuz2ngwi10z [w3wp.exe |SELECT SUBS_TRANS.TRANS_NUM, ...
[ 380,584 | 380,588 | 1.00] 0.00 | 0.00 [7dpyfc02bmiqgv | |SELECT PREF_ID, ITEM_DEFAULT,...

| Comment [K17]:

EXECS and ROWS PER EXEC

This SQL was executed 2.3M times over the 2 hc
covered by this AWR. T
on average. Thatodos a |
unnecessdy inside a LOOP statement within the
code and is being executed more times that the
developer thinks.

Click on SQL_ID to view the full SQL text to see i
the WHERE clause could be extended to return r
rows each time thereby perhaps reducing the nur
of times the SQL needs to be executed. Work wit
the developer.

Also look at the ROWS PER EXEC. If a SELECT
statement has a large number of Rows Per Exec,
may indicate an unrestrictive WHERE clause.

If an INSERT, UPDATE or DELETE has a large
numberof Rows Per Exec, it indicates a large WUni
of-Work. This makes Oracle hold onto the modifie
rows until a COMMIT is issued. This means a lar
redo log write which could slow down Oracle.

Back to SQL Statistics
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SQL ordered by Parse Calls

i Total Parse Calls: 1,519,434
I Captured SQL account for 34.1% of Total

Parse Calls % Total Parses SQL Id SQL Module SQL Text

| 32,406 | 37,601 | 2.13 |b8w84823huowj [JDBC Thin Client [UPDATE CIRC.SUBS_TRANS SET PAY...
| 18,066 122,870 | 1.19 [g7x5fztkgcl?y  |w3wp.exe |SELECT PUBLICATION FROM CIRC.S...

| 17,981 380,584 1.18[7dpyfc02bmigv | |[SELECT PREF_ID, ITEM_DEFAULT,...

| 17,535 | 31,539 | 1.15[cz5t28pns876y  [dsi.exe |SELECT SUB_TYPE FROM SUBSCRIPT...




| 17,339 | 17,339 | 1.14 [f2a45dk38dgsy  |dsi.exe [select count () from securit...

| 17,129 124,968 1.13/[dsfjicd2tffhg [w3wp.exe |SELECT AMOUNT, TRANS_NUM, TR...

| 16,870 160,689 | 1.11 [491a88zy33xv4  |w3wp.exe |SELECT PREF_ID, NVL(ITEM_VALU...

| 16,757 | 41,171 1.10 [bxq23315z6a83  |w3wp.exe [SELECT PUB_PRODUCT_PAPER FROM ...
| 16,590 | 37,999 | 1.09 [1n19tc89cp9gr  |w3wp.exe |[SELECT RATE_TABLE FROM VW_SUBS...
| 16,490 [ 154,422 1.09 [7im2gf63svan  |[w3wp.exe [SELECT LAST_ACTIVITY, STATUS_...

| 16,194 | 18,694 | 1.07 [c77mttrapwf2u  [JDBC Thin Client [SELECT PUBLICATION, BILL_THRU...

| 16,160 | 23,003 | 1.06/[3xglsdy4r74fk  [IJDBC Thin Client [SELECT TO_TYPE FROM CIRC.SUBS._...

| 16,157 | 19,924 | 1.06 [94nivpfz1bf83  [IJDBC Thin Client [SELECT * FROM CIRC.DRAW_DEADLI...

| 16,155 | 18,653 | 1.06 [98cdstump8ajl  [JDBC Thin Client [SELECT TRANS_NUM FROM CIRC.SUB...

| 16,150 | 19,294 | 1.06 [amm826hmmyn07 [JDBC Thin Client [SELECT ST.TRANS_NUM, TRANS_DA...

| 16,115 | 18,614 | 1.06 [594580p45718x  [JDBC Thin Client [SELECT BILL_THRU_DATE FROM CIR...

| 16,115 | 18,614 | 1.06 |bsd05wzbuy311 [JDBC Thin Client [SELECT TRANS_NUM, TRANS_DATE ..

| 16,071 | 19,635 | 1.06 [0zzjmxz77kmba |w3wp.exe [SELECT SEQ_SUBS_TRANS.NEXTVAL ...

| 16,052 [ 143,095 | 1.06 [1dghy6xv4u06f  [JDBC Thin Client [SELECT TRANS_TYPE FROM CIRC.VW...

| 16,006 | 1,243,725 | 1.05 [6iypkctaxhs5p  [w3wp.exe |SELECT * FROM PRODUCT_CODE WHE...
| 15,973 | 16,376 | 1.05 [b0Ogwwsy6sdi7p | [SELECT TRANS_NUM, TRANS_DATE,...

| 15,965 | 15,992 | 1.05 [a92vk52x0dmh8 | [SELECT MAX(LAST_DATE) MAX_DATE...

| 15,945 1,182,881 | 1.05 [96c4ubpu90boh  [w3wp.exe [SELECT PUB_PRODUCT_PAPER FROM ...
| 15,908 [ 1,196,040 | 1.05 [gradmtaxwkdnw  [JDBC Thin Client [SELECT /*+ ORDERED * QUANTITY...
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SQL ordered by Sharable Memory

§f  Only Statements with Sharable Memory greater than 1048576 are displayed

Sharable Mem (b) SQL Id SQL Module SQL Text

w| =

| 10,655,648 | 0.04 [ammbbygjc57du | [BEGIN circ_rptvw_new_...

| 4,751,544 | | 0.02 [cz79290n80y79 | [BEGIN CIRC_RPT.VW_NEW _...

| 3,343,704 | [ 0.1 [Bfymkzisifsk | [BEGIN CIRC.VvW_SUBS_TRA...

| 2,399,166 | | o0.01[7tzd0fck7szkg | |SELECT ALIAS_ACCT_SET ALIAS_AC...
| |

1,175,196 |

0.00 [4xw8ur3oh4z5v [dsi.exe

|SELECT C_FUNCT."IDX", ...




| 1,118,290 | 8|  0.00 [21vy7rp5rExzh [dsi.exe [BEGIN CIRC.VvW_SUBS_TRA...
| 1,070,299 | 89|  0.00 [3xluzdsvpdyx0 |dsiexe [BEGIN CIRC.vW_SUBS_TRA...
| 1,064,893 | 24| 0.00 [dttyOch031ntx [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...

oL u SQL Mode SoL Tex

Back to SOL Statistics
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SQL ordered by Version Count

Only Statements with Version Count greater than 20 are displayed

28|

269 [817fb23ws8d22 [dsi.exe

| 821 | [ammbbyajc57du | [BEGIN circ_rpt.vw_new_...

| 468 | [t3fymkzisifsk | [BEGIN CIRC.vW_SUBS_TRA...
| 343 | [cz79290n80y79 | [BEGIN CIRC_RPT.VW_NEW._...
| 212 | 5 [4n2us62zyhb12 [dsi.exe [BEGIN CIRC.vW_PERSON_A...
| 184 | 89 [3x1uz4svpayx0 [dsiexe [BEGIN CIRC.vW_SUBS_TRA...
| 183 | 24 [dttyoch031ntx [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 173 | 8 [2Lvy7rp5r5xzh  [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
[ 164 | 99 [89vnk0ztuxOnm [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 147 | 70 [Zubtytsémagszd [dsi.exe [BEGIN CIRC_RPT.vW_SUBS...
| 138 | 31 [1yrfxudévcaga [dsiexe [BEGIN CIRC.vW_SUBS_TRA...
| 119 76 [81s3{9muvvrér [dsi.exe [BEGIN CIRC_RPT.VW_SUBS...
| 95 | 75 [75n5qjjuffk3l [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 86 | 29 [76naldfdmcuxm [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 73| 4 [bx4m4n324y3uu [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 61 | 55 [5zvcf8bsy2a3] [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 57 | 37 [9gottratskpgf  [dsiexe [BEGIN CIRC.vW_SUBS_MOV...
| 53 | 67 [a83k0g5vagdc0 [dsi.exe [BEGIN CIRC.VvW_CAR_ADJ_...
| 51 | 22 [2ba4sk51fu711 [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 33 | 4,218 |76rugg43r89nw |Redwood master agent |UPDATE /*+ INDEX(jp rws_jpar$._...
| 33 145 [f2q11jg13zyst [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
| 31| 130 [6hvytk649q02d [dsi.exe [BEGIN CIRC.vW_SUBS_TRA...
|

[BEGIN CIRC.vW_SUBS_TRA...




| 24 | 3 [810cb8g8ampd7 [Redwood job agent 2793982 |begin "LA_DSI"."LA_DSI_JS_FTP._...
[ 23| 6 [3vp2bmf6q5map | [INSERT INTO CIRC.SUBSCRIPTION_...
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Complete List of SQL Text

05gwz57k7fwsj SELECT /*+ ORDERED use_nl(subscription asr address_subacct subs_trans subs_papchg subs_papers pcod paper) index(asr) */ PAPER.PUBLICATION,
ASR.ROUTE, PAPER.DRAW_TYPE, SUBS_PAPERS.PROD_CODE, SUM(SUBS_PAPERS.QUANTITY) COPIES, SUM(SUBS_PAPERS.QUANTITY *
DECODE(CIRC.UTIL.SUB_TYPE_NUM(SUBSCRIPTION.ACCOUNT, :B1, SUB_TYPE, LAST_SUB_TYPE_ACTIVITY, SUB_TYPE_ON_LAST_ACTIVITY), 0, 1,
0)) COPIES_OP, SUM(DECODE(COMPUTE_DRAW.OLD_DATE( TRUNC(NVL(SUBS_PAPCHG.RENEW_SENT, NVL(SUBSCRIPTION.RENEW_SENT,
NVL(SUBSCRIPTION.START_DATE, SYSDATE)))), PAPER.PUBLICATION), 0, 0, SUBS_PAPERS.QUANTITY *
DECODE(CIRC.UTIL.SUB_TYPE_NUM(SUBSCRIPTION.ACCOUNT, :B1, SUB_TYPE, LAST_SUB_TYPE_ACTIVITY, SUB_TYPE_ON_LAST_ACTIVITY), 0, 1,
0))) COPIES_OP_OLD, COUNT(DISTINCT ASR.ADDRESS_ID) ADDR_WITH_COPY FROM CIRC.ADDRESS_SUBACCT_ROUTE ASR,
CIRC.ADDRESS_SUBACCT, CIRC.SUBSCRIPTION, CIRC.SUBS_TRANS, CIRC.SUBS_PAPCHG, CIRC.SUBS_PAPERS, CIRC.VW_PRODUCT_CODE PCOD,
CIRC.PAPER WHERE ADDRESS_SUBACCT.ACCOUNT IS NOT NULL AND (:B1 BETWEEN ADDRESS_SUBACCT.VALID_FROM AND
ADDRESS_SUBACCT.VALID_UNTIL) AND ADDRESS_SUBACCT.ROW_ID = ASR.ADDRESS_SUBACCT_ROW AND ASR.FREQUENCY IN (8, :B4 ) AND
ADDRESS_SUBACCT.ACCOUNT = SUBSCRIPTION.ACCOUNT AND SUBSCRIPTION.PUBLICATION = ADDRESS_SUBACCT.PUBLICATION AND
ADDRESS_SUBACCT.PUBLICATION = ASR.PUBLICATION AND SUBS_TRANS.TRANS_NUM = SUBS_PAPCHG.TRANS_NUM AND
SUBSCRIPTION.ACCOUNT = SUBS_TRANS.ACCOUNT AND SUBS_TRANS.DELETE_DATE IS NULL AND (:B1 BETWEEN SUBS_TRANS.VA LID_FROM AND
SUBS_TRANS.VALID_UNTIL) AND SUBS_TRANS.TRANS_NUM = SUBS_PAPERS.TRANS_NUM AND SUBS_TRANS.TRANS_TYPE = 4 AND
SUBS_PAPERS.PAPER_CODE = PAPER.CODE AND SUBS_PAPERS.PROD_CODE = PCOD.CODE AND SUBSTR(PCOD.ALL_DAYS,
DRAW_UTIL2.F_DAYNUM_FOR_DU(:B1 , PAPER.PUBLICATION, 'N'), 1)="Y' AND ASR.PUBLICATION = :B3 AND ASR.ROUTE = :B2 AND
UTIL.SUB_STATUS(SUBSCRIPTION.ACCOUNT, :B1, LAST_ACTIVITY, STATUS_ON_LAST_ACTIVITY)=1 AND NOT EXISTS (SELECT A . ACCOUNT FROM
CIRC.DU_DONATION_ACCT A, CIRC.DU_DONATION_ACCT_PUB AP WHERE A.JOB_ID = AP.JOB_ID (+) AND A/ ACCOUNT = AP.ACCOUNT (+) AND
A.JOB_ID=:B5 AND A. ACCOUNT=SUBSCRIPTION.ACCOUNT AND (AP.PUB IS NULL OR AP.PUB = PAPER.PUBLICATION)) GROUP BY ASR.ROUTE,
PAPER.PUBLICATION, PAPER.DRAW_TYPE, SUBS_PAPERS.PROD_CODE

‘OgVXSaqudzwn ‘SELECT * FROM ADDR.VW_ADDRESS WHERE ID=:B1

‘Ozzjmxz77kmba ‘SELECT SEQ_SUBS_TRANS.NEXTVAL FROM DUAL

10mu2x59guzwv  |SELECT "CIRC"."VW_SUBS_TRANS_DISPLAY"."TRANS_NUM", "CIRC"."VW_SUBS_TRANS_DISPLAY"."ACCOUNT", CASE when (trans_type=6 and
item_code="'P’) then 21 when (trans_type=4 and extral = 'R') then 42 when (trans_type=4 and extral ='S') then 41 when (trans_type=10 and extral = 'H’) then 43
else trans_type END display_type, CASE when (trans_type=4 and extral in (‘'R’, 'S") and circ.util.sub_status_ai(account, trans_date)="l') then 'Y" else 'N' END
inact_suspend_resume, "CIRC"."VW_SUBS_TRANS_DISPLAY"."TRANS_TYPE", "CIRC"."VW_SUBS_TRANS_DISPLAY"."TRANS_DATE" display_date, CASE
when (trans_type=13 and trouble_here="Y") then to_date('12/31/2999', 'mm/dd/yyyy') else to_date(to_char(trans_date, 'mm/dd/rr'), 'mm/dd/rr') END trans_date,
CASE when (trans_num is null and trans_type=6 and item_code='C") then 'Transfer '[|LTRIM(TO_CHAR(amount, '9, 999.99'))||' to Collection' when (trans_num is
null and trans_type=6 and item_code="N') then 'Removed from Collection' when (trans_num is null and trans_type=6 and item_code='"P' and
circ.VW_SUBS_PARENT_DETAIL_SP.f_is_parent(account, 'Y') in ("Y', 'E")) then 'Parent
Account'||decode(circ.VW_SUBS_PARENT_DETAIL_SP.f_is_parent(account, 'Y '), 'E', " - (Expire Use)') when (trans_num is null and trans_type=6 and
item_code="P") then 'Acct #||circ. VW_SUBS_PARENT_DETAIL_SP.f_has_parent(account, trans_date, 'N') else circ.subtrans.get_desc(trans_num, trans_type) END
description, DECODE(TRANS_NUM, NULL, TO_NUMBER(NULL), /*5315* DECODE(AMOUNT_PARENT, NULL, AMOUNT, AMOUNT_PARENT)) AMOUNT,
/*5315*/ MEMO||DECODE(TO_TYPE, NULL, NULL, ' for '||circ.VW_SUBS_PARENT_BILL_CAL_SP.f_bill_period(to_type)) * MEMO,
"CIRC"."VW_SUBS_TRANS_DISPLAY"."APPLIED_DATE", "CIRC"."VW_SUBS_TRANS_DISPLAY"."ENTRY_DATE",
"CIRC"."VW_SUBS_TRANS_DISPLAY"."USERID_ENTRY", /*"CIRC"."VW_SUBS_TRANS_DISPLAY"."PAYS_THRU_DATE",




"CIRC"."VW_SUBS_TRANS_DISPLAY"."PAYS_THRU_BAL", */ CASE when (trans_type=4 and extral ='S') then NULL else pays_thru_date END pays_thru_date,
CASE when (trans_type=4 and extral = 'S’) then NULL else pays_thru_bal END pays_thru_bal, userid_last_write, last_write_date, mf_copies, extral FROM
"CIRC"."VW_SUBS_TRANS_DISPLAY" WHERE CIRC."VW_SUBS_TRANS_DISPLAY"."ACCOUNT" = :acctno

170543cbhcvym

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.PK_TRUCK_MANIFEST.PREP_MANIFEST_SG_BJOB(A_SCHEME_GROUP=>'LAT HD', A_SCHEME_ID=>'LAT DAILY', A_FROM_TRUCK=>NULL,
A_THRU_TRUCK=>NULL, A_LEVEL=>NULL, A_DRAW_DATE=> to_date('10/25/12','MM/DD/RR’), A_COMBINE_UP_TO=>NULL, A_SUPPLIES_TM=>'N',
A_JOB_RUN_ID=>1226770); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

|1ccadsvirpfoy

‘SELECT * FROM VW_SUBS_RATE_INFO WHERE ACCOUNT=:B2 AND TRUNC(:B1 ) BETWEEN VALID_FROM AND VALID_UNTIL

lcnplzyhy47xz

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/24/12','MM/DD/RR"), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'N', A_JOB_RUN_ID=>1226765); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

‘1dghy6xv4u06f

SELECT TRANS_TYPE FROM CIRC.VW_SUBS_ACTIVITY WHERE ACCOUNT=:B2 AND TRANS_DATE<=:B1 AND TRANS_TYPE<4 AND :B1 BETWEEN
VALID_FROM AND VALID_UNTIL ORDER BY TRANS_DATE, TRANS_TYPE

|1n19tc89cpagr

‘SELECT RATE_TABLE FROM VW_SUBS_RATE_INFO WHERE ACCOUNT=:B2 AND TRUNC(:B1 ) BETWEEN VALID_FROM AND VALID_UNTIL

[1nmk3m3sxwlgz

\BEGIN circ.subs_import.p_subs_import(519000860, 460841, 'V'); END;

|1yrfxudévcgga

‘BEGIN CIRC.VW_SUBS_TRANS_CREDIT_DEBIT_SP.UPD(:16, 1, :2, :3, :4, :5, :6, :7, :8, 19, :10, :11, :12, :13, :14, :15 ); END;

‘21vy7rp5r5xzh

‘BEGIN CIRC.VW_SUBS_TRANS_COMPLAINT_SP.UPD(:22, 1, :2, :3, :4, :5, 6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21 ); END;

‘28953yd60pfnp

SELECT /*+ ORDERED */ COUNT(DISTINCT ADDRESS_ID) FROM VW_ROUTE_ADDRESSES WHERE PUBLICATION = :B3 AND ROUTE = :B2 AND (:B1
BETWEEN VALID_FROM AND VALID_UNTIL) AND FREQUENCY IN (8, PAPERTRAK.PKDATE.DAYNUM_DSI(:B1))

[2badsks1fu711

‘BEGIN CIRC.VW_SUBS_TRANS_VACPAC_SP.UPD(:19, 11, :2, :3, :4, :5, :6, :7, 8, 19, :10, :11, :12, :13, :14, :15, :16, :17, :18 ); END;

‘290]hucv8bu3g

SELECT PAPER_CODE, PROD_CODE, ROUTE, EXPIRE_DATE, BALANCE_TODAY, STATUS, DELIVERY_PUB, TOT_BILL_AMT FROM
CIRC_RPT.VW_IVR_SUBS_INFO WHERE ACCOUNT = :1

2hxytnmbzauvn

SELECT CANDIDATE.ROUTE, OFFICE_PAY_ONLY, CITY_CODE, STOP_FOR_NON_PAY, CUT_TO_CC, CANDIDATE.ID, CANDIDATE.ZIP FROM
CIRC.STREET_ROUTER CANDIDATE, ADDR.ADDRESS CHECK_ROW WHERE CHECK_ROW.ID =:B3 AND CANDIDATE.ZIP = CHECK_ROW.ZIP AND
CANDIDATE.STREET_NAME = CHECK_ROW.STREET AND (CANDIDATE.STREET_SUFFIX = CHECK_ROW.STREET_SUFFIX OR
(CANDIDATE.STREET_SUFFIX IS NULL AND CHECK_ROW.STREET_SUFFIX IS NULL ) ) AND (CANDIDATE.FST_DIR = CHECK_ROW.FST_DIR OR
(CANDIDATE.FST_DIR IS NULL AND CHECK_ROW.FST_DIR IS NULL ) ) AND (CANDIDATE.SND_DIR = CHECK_ROW.SND_DIR OR (CANDIDATE.SND_DIR
IS NULL AND CHECK_ROW.SND_DIR IS NULL ) ) AND (NVL(CHECK_ROW.HOUSE_SORT, '00000000000000000000") BETWEEN CANDIDATE.LOW_SORT
AND CANDIDATE.HIGH_SORT) AND CANDIDATE.PUBLICATION = :B2 AND (NVL(CHECK_ROW.UNIT_SORT, '0000000000000000") BETWEEN
CANDIDATE.LOW_APT_SORT AND CANDIDATE.HIGH_APT_SORT) AND (TRANSLATE(CANDIDATE.ODD_EVEN, 'EQ’, '01) =
TO_CHAR(MOD(TO_NUMBER(SUBSTR(CHECK_ROW.HOUSE_SORT, 2, 9)), 2)) OR CANDIDATE.ODD_EVEN IS NULL ) AND :B1 BETWEEN
DECODE(CANDIDATE.DATE_FROM, NULL, TRUNC(SYSDATE), CANDIDATE.DATE_FROM) AND DECODE(CANDIDATE.DATE_FROM, NULL,
TRUNC(SYSDATE), CANDIDATE.DATE_TO)

2sswh0d43wufl

SELECT 'Y' FROM DUAL WHERE EXISTS (SELECT * FROM CIRC.VW_ADDR_SUBACCT WHERE ADDRESS_ID=:B4 AND PUBLICATION=:B3 AND
ROUTE=:B2 AND ACCOUNT IS NULL AND :B1 BETWEEN VALID_FROM AND VALID_UNTIL)

2xf37ww4bsn2g

SELECT :B2, :B1, ROUTE.ROUTE, ROUTE.PUBLICATION, DIVISION, ADI, DISTRICT, DEPOT SUB_DISTRICT, ABC_ZONE, DISPATCH_ZONE, CUT_TO_CC,
ROUTE_TYPE FROM ADDRESS_SUBACCT, ADDRESS_SUBACCT_ROUTE, ROUTE WHERE
ADDRESS_SUBACCT_ROUTE.PUBLICATION=ROUTE.PUBLICATION AND ADDRESS_SUBACCT_ROUTE.ROUTE=ROUTE.ROUTE AND
ADDRESS_SUBACCT.ROW_ID=ADDRESS_SUBACCT_ROUTE.ADDRESS_SUBACCT_ROW AND ACCOUNT=:B2 AND TRUNC(:B1 ) BETWEEN
VALID_FROM AND VALID_UNTIL AND (FREQUENCY=8 OR FREQUENCY=PAPERTRAK.PKDATE.DAYNUM_DSI(:B1))

35andu44s5fa0

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN




CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/21/12','MM/DD/RR’), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y', A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'Y', A_JOB_RUN_ID=>1226781); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

36gb1g0hqc3fg

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.PK_TRUCK_MANIFEST.PREP_MANIFEST_SG_BJOB(A_SCHEME_GROUP=>'LAT HD', A_SCHEME_ID=>'LAT DAILY', A_FROM_TRUCK=>NULL,
A_THRU_TRUCK=>NULL, A_LEVEL=>NULL, A_DRAW_DATE=> to_date('10/23/12', 'MM/DD/RR'), A_COMBINE_UP_TO=>NULL, A_SUPPLIES_TM=>'N',
A_JOB_RUN_ID=>1226763); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

[3hox8xtj7ofic

‘UPDATE CAR_ADJ_IMPORT SET ADJ_BATCH_NUMBER = :B2 WHERE BATCH_ID = :B1

[3p6uywr7624k5

‘BEGIN irc := SECURITY.UTIL.EXEC_PROC( :0); END;

3vp2bmféq5m4p

INSERT INTO CIRC.SUBSCRIPTION_IMPORT2 (batch_id, "EXTERNAL_PUB", "EXTERNAL_ACCOUNT", "DELMAP", "TRANS_CODE", "TRANS_DATE",
"COPIES", "PAGE_MESSAGE") VALUES (:batch_id, :v_coll, :v_col2, :v_col3, :v_col4, :v_col5, :v_col6, :v_col7)

3x1uz4svpdyx0

‘BEGIN CIRC.VW_SUBS_TRANS_PCHG_HDR_SP.INS(:1, :2, :3, :4, 5, :6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25, :26,
:27,:28,:29); END;

3xqlsdydr74fk

SELECT TO_TYPE FROM CIRC.SUBS_TRANS, CIRC.SUBS_TYPE_CHANGE WHERE TRANS_TYPE =12 AND ACCOUNT=:B2 AND DELETE_DATE IS NULL
AND (SUBS_TRANS.TRANS_NUM=SUBS_TYPE_CHANGE.TRANS_NUM) AND (:B1 >= NVL(BACK_OP_DATE, TRANS_DATE)) ORDER BY
NVL(BACK_OP_DATE, TRANS_DATE) DESC, DECODE(BACK_OP_DATE, NULL, 2, 1) ASC

45uuqtn59j3ud

SELECT "CIRC"."SUBSCRIPTION"."ACCOUNT", "CIRC"."SUBSCRIPTION"."PUBLICATION", "CIRC"."SUBSCRIPTION"."AMORTIZED_OP",
"CIRC"."SUBSCRIPTION"."AMORTIZED_MAIL", circ.util.name_addr_for_account(5, account) name, circ.util.name_addr_for_account(1, account) street,
circ.util.name_addr_for_account(4, account) zip, circ.util.f_route_for_account(account, circ.subs_update_util.next_date(publication)-1) route,
circ.subs_update.last_date_range(publication) last_date_range, "CIRC"."SUBSCRIPTION".publication FROM "CIRC"."SUBSCRIPTION" WHERE ((
CIRC."SUBSCRIPTION"."AMORTIZED_OP" > 0 AND :ra_op_positive="Y") OR ( CIRC."SUBSCRIPTION"."AMORTIZED_MAIL" > 0 AND :ra_mail_positive="Y"))
/*AND (NULL = 0 OR NULL = "CIRC"."SUBSCRIPTION".publication OR NULL is null)*/ AND ( (NULL is null and nvi(:ra_pub_group, '%')='%") or (NULL is not null
and circ.subscription.publication IS NULL) or (nvi(:ra_pub_group, '%")<>'%'" and circ.subscription.publication in (select publication from circ.pub_group_pubs where
pub_group_code = :ra_pub_group))) AND (security.pk_security.chk_row_route( circ.subscription.publication, null, null, null, null, null, 'S") ='Y") AND ((
:ra_route_range = 'N') OR (( :ra_route_range ="Y") AND (circ.util.f_route_for_account(account, circ.subs_update_util.nex t_date(publication)-1) BETWEEN
:ra_route_begin AND :ra_route_end) and (EXISTS (select * from circ.route r /*where r.publication IS NULL*/ where r.publication = circ.subscription.publication and
r.route between :ra_route_begin and :ra_route_end and (security.pk_security.chk_row_route( r.publication, r.division, r.adi, r.district, r.depot, r.route, 'S") = 'Y")))))

4g91a88zy33xv4

SELECT PREF_ID, NVL(ITEM_VALUE, ITEM_DEFAULT) ITEM_DEFAULT, USER_OVERRIDE FROM SECURITY.VW_PREFERENCE_ITEM_PUB VW WHERE
VW.MODULE = :B3 AND VW.ITEM_CODE = :B2 AND (VW.PUBLICATION = :B1 OR (VW.PUBLICATION IS NULL AND NOT EXISTS (SELECT * FROM
SECURITY.PREFERENCE_ITEM_PUB WHERE PUBLICATION = :B1 AND PREF_ID = VW.PREF_ID))) UNION ALL SELECT PREF_ID, ITEM_DEFAULT,
USER_OVERRIDE FROM SECURITY.VW_PREFERENCE_ITEM WHERE MODULE = :B3 AND ITEM_CODE = :B2 AND ALLOW_PUB_OVERRIDE ='N'

4n2us62zyhbl12

BEGIN CIRC.VW_PERSON_ACCT_SP.UPD(:1, :2, :3, :4, :5, :6, :7, :8, :9, :10, :11, :12, :13, :14, :28, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25, :26, :27 );
END;

4xw8ur39h4z5v

SELECT C_FUNCT."IDX", "LEV", "MOD", "FUN", "DES", "FWU", "WIN", "DWO", "SEQ", "FLO", "BMP", "SHEET", "MAXOPEN", "MPOS", "OPENSTYLE",
"ADDON", "WPARM", uaccess.read_only, uaccess.hide_priv, main_seq, uaccess.user_id, NVL(fun_seq, 0), case when NEW_ITEM.IDX is not null then 1 ELSE 0
END NEW_ITEM FROM SECURITY.VW_MENU_OPTION "C_FUNCT", dsi.NEW_ITEM, security.s_uacces uaccess, (SELECT seq main_seq, MOD main_mod
FROM SECURITY.VW_MENU_OPTION mo WHERE mo.lev = 'M’), (SELECT seq fun_seq, fun fun_fun, MOD fun_mod FROM SECURITY.VW_MENU_OPTION ml
WHERE ml.lev ='L') WHERE (C_FUNCT.IDX = NEW_ITEM.IDX(+)) AND uaccess.idx = C_FUNCT.idx AND uaccess.user_id = USER AND main_mod =
C_FUNCT.MOD AND ( fun_fun(+) = C_FUNCT.fun AND fun_mod(+) = C_FUNCT.MOD) UNION ALL SELECT C_FUNCT."IDX", "LEV", "MOD", "FUN", "DES",
"FWU", "WIN", "DWO", "SEQ", "FLO", "BMP", "SHEET", "MAXOPEN", "MPOS", "OPENSTYLE", "ADDON", "WPARM", uaccess.read_only, uaccess.hide_priv,
main_seq, uacces s.user_id, NVL(fun_seq, 0), case when NEW_ITEM.IDX is not null then 1 ELSE 0 END NEW_ITEM FROM SECURITY.VW_MENU_OPTION
"C_FUNCT", dsi.NEW_ITEM, security.s_uacces uaccess , security.s_user, (SELECT seq main_seq, MOD main_mod FROM SECURITY.VW_MENU_OPTION mo
WHERE mo.lev = 'M'), (SELECT seq fun_seq, fun fun_fun, MOD fun_mod FROM SECURITY.VW_MENU_OPTION ml WHERE ml.lev = 'L") WHERE
(C_FUNCT.IDX = NEW_ITEM.IDX(+)) AND uaccess.USER_ID = S_USER.USER_ACCESS_ID AND S_USER.USER_ID = USER AND NOT EXISTS (SELECT
S_UACCES.IDX FROM S_UACCES WHERE USER_ID = USER ) AND uaccess.idx = C_FUNCT.idx AND S_USER.USER_ID = USER AND main_mod =




[C_FUNCT.MOD AND ( fun_fun(+) = C_FUNCT.fun AND fun_mod(+) = C_FUNCT.MOD) ORDER BY 20 ASC, 22 ASC, 4, 2 DESC, 9 asc, 5

[594580p45718x \SELECT BILL_THRU_DATE FROM CIRC.SUBSCRIPTION WHERE ACCOUNT=:B1

[Stlygvubzndkc [BEGIN circ.addr_subacct.route_all_addresses(100, to_number(null), '90001', '93591', trunc(to_date('OCT-19-2012', 'MON-DD-YYYY"), 'N', to_number(null)); END;

‘52vcf8bsy2a3j ‘BEGIN CIRC.VW_SUBS_TRANS_MEMO_SP.UPD(:10, :1, :2, :3, :4, :5, 6, :7, :8,:9 ); END;

[6hvytk64qq02d  [BEGIN CIRC.VW_SUBS_TRANS_COMPLAINT_DTL_SP.UPD(5, 6, :1, 2, :3, :4 ); END;

\6]ypkct4xh55p \SELECT * FROM PRODUCT_CODE WHERE CODE=:B1

6kpdsfOyupac3 SELECT /*+ ORDERED INDEX(RATE_SUBS IDX_RATE_SUBS_RT_PAP_PRD_VFROM) */ SUBS_PAPERS.PROD_CODE, QUANTITY, PER_COPY,
PER_COPY_SUN, PUBLICATION FROM SUBS_PAPERS, RATE_SUBS, PAPER WHERE ( RATE_SUBS.PAPER_CODE = SUBS_PAPERS.PAPER_CODE )
AND ( SUBS_PAPERS.PROD_CODE = RATE_SUBS.PROD_CODE ) AND ( RATE_SUBS.RATE_TABLE=:B4 ) AND ( SUBS_PAPERS.TRANS_NUM=:B3 ) AND (
SUBS_PAPERS.PAPER_CODE = PAPER.CODE) AND ( TRUNC(:B2 ) BETWEEN RATE_SUBS.VALID_FROM AND RATE_SUBS.VALID_UNTIL) AND (:B1 1S
NULL OR :B1 = SUBS_PAPERS.PAPER_CODE)

6pb91u7mf42zn  |DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/23/12','MM/DD/RR"), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y', A_CARRY_ALONG=>'N', A_JOB_RUN_ID=>1226762); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

6qq9dagrs5hoh DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN

SECURITY.PK_DYNEXPORT.EXPORT_FILE_BJOB(EXP_FILE_ID=>8001863, JOB_RUN_ID=>1226790, a_param_tab=>'~~', a_nparam_tab=>2); :mydate :=
next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

[75n5qjjuffk31

‘BEGIN CIRC.VW_SUBS_TRANS_CREDIT_DEBIT_SP.INS( :1, :2, :3, :4, :5, :6, :7, :8, 19, :10, :11, :12, :13, :14, :15, :16 ); END;

765aawdsphw03

SELECT P.PACKAGE_NUMBER, P.REG_BUNDLE_SIZE, P.MAX_KEY_SIZE, TO_NUMBER(NULL) VARIANCE_ROW, NVL(R.QTY_SUB, 0) +
NVL(R.QTY_NONSUB, 0) + NVL(R.QTY_SC, 0) QTY_TOTAL, R.LOT_ID FROM CIRC.INS_PACKAGE P, CIRC.INS_PACKAGE_ROUTE R WHERE
P.PACKAGE_NUMBER = R.PACKAGE_NUMBER AND R.TRUCK_DATE = :B3 AND P.PUBLICATION = :B2 AND R.ROUTE = :B1 AND P.DISABLED = 'N' AND
P.PRINT_FLAG ='Y' AND R.DELIVERED_DATE IS NULL UNION SELECT P.PACKAGE_NUMBER, P.REG_BUNDLE_SIZE, P.MAX_KEY_SIZE, V.ROW_ID
VARIANCE_ROW, NVL(V.QTY_SUB, 0) + NVL(V.QTY_NONSUB, 0) + NVL(V.QTY_SC, 0) QTY_TOTAL, TO_CHAR(NULL) LOT_ID FROM CIRC.INS_PACKAGE
P, CIRC.INS_PACKAGE_ROUTE_VARIANCE V WHERE P.PACKAGE_NUMBER = V.PACKAGE_NUMBER AND V.TRUCK_DATE = :B3 AND P.PUBLICATION =
‘B2 AND V.ROUTE = :B1 AND P.DISABLED = 'N' AND P.PRINT_FLAG = 'Y' AND V.DELIVERED_DATE IS NULL AND (NVL(V.QTY_SUB, 0) +
NVL(V.QTY_NONSUB, 0) + NVL(V.QTY_SC, 0)) <> 0

‘76na1dfdmcuxm

‘BEGIN CIRC.VW_SUBS_TRANS_STOP_SP.UPD(:13, 1, :2, :3, :4, :5, 6, :7, :8, :9, :10, :11, :12 ); END;

76rugq43r8gnw

UPDATE /*+ INDEX(jp rws_jpar$_pk) val.improve_jpar */ RWS_JPAR$ JP SET JP.OBJ# = :B15 , JP.VALUE# = :B14 , JP.VALUES$ = :B13 , JP.VALUEDATE = :B12
, JP.VALUETSTAMP =:B11, JP.VALUECLOB = :B8 , JP.OVALUE# = DECODE(:B10, :B9, :B14 , NULL) , JP.OVALUE$ = DECODE(:B10, :B9, :B13, NULL) ,
JP.OVALUEDATE = DECODE(:B10, :B9 , :B12, NULL) , JP.OVALUETSTAMP = DECODE(:B10, :B9, :B11 , NULL) , JP.OVALUECLOB = DECODE(:B10, :B9,
:B8, NULL) , JP.P_JOB# = :B7 , JP.P_PAR# = :B6 , JP.VFLAG = :B5 , JP.EXPR = :B4 , JP.EVAL$ = :B3 WHERE JP.JOB# = :B2 AND JP.PAR# = :B1

78kumj80fh9zb

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.PK_TRUCK_MANIFEST.PREP_MANIFEST_SG_BJOB(A_SCHEME_GROUP=>'LAT HD', A_SCHEME_ID=>'LAT DAILY', A_FROM_TRUCK=>NULL,
A_THRU_TRUCK=>NULL, A_LEVEL=>NULL, A_DRAW_DATE=> to_date('10/24/12','MM/DD/RR’), A_COMBINE_UP_TO=>NULL, A_SUPPLIES_TM=>'N',
A_JOB_RUN_ID=>1226766); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

7cm2x28dxag54

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date("10/26/12','MM/DD/RR’), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'N', A_JOB_RUN_ID=>1226773); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

[7dpyfco2bm1qv

‘SELECT PREF_ID, ITEM_DEFAULT, USER_OVERRIDE FROM SECURITY.VW_PREFERENCE_ITEM WHERE MODULE = :B2 AND ITEM_CODE = :B1

[7im2qgf63svoan

‘SELECT LAST_ACTIVITY, STATUS_ON_LAST_ACTIVITY FROM CIRC.SUBSCRIPTION WHERE ACCOUNT=:B1




7n61jwpjr7ly2 DECLARE job BINARY_INTEGER :=:job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=>to_date('10/22/12','MM/DD/RR'), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'Y", A_JOB_RUN_ID=>1226784); :mydate := next_date; IF broken THEN :b :=1; ELSE :b := 0; END IF; END;

7tz40fck7szkg SELECT ALIAS_ACCT_SET ALIAS_ACCT_SET, FIRST_NAME FIRST_NAME, LAST_NAME LAST_NAME, HOUSE HOUSE, FST_DIR FST_DIR, STREET
STREET, STREET_SUFFIX STREET_SUFFIX, SND_DIR SND_DIR, UNIT_TYPE UNIT_TYPE, UNIT UNIT, CITY CITY, STATE STATE, ZIP ZIP, ZIP_4 ZIP_4,
PHONE_1 PHONE_1, CURR_COPIES CURR_COPIES, SUB_DISTRICT SUB_DISTRICT FROM CIRC_RPT.VW_SUBS_TRANS_EXP_DRW WHERE
TRANS_TYPE_NUM in(2, 3) and SYMBOL ='IBD' and "ENTRY_DATE" like '%" and "ALIAS_SYSTEM_CODE" like '%' and trunc(ENTRY_DATE) =
trunc(SYSDATE)

7ubtytsémgszd BEGIN CIRC_RPT.VW_SUBS_TRANS_CCARD_REQUEST_SP.UPD(:30, :1, :2, :3, :4, :5, :6, 7, :8, :9, 110, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22,
:23,:24, :25, :26, :27, :28, :29 ); END;

810cb8g8gmpd7  [begin "LA_DSI"."LA_DSI_JS_FTP_FILE_WATCHER"("P_SUBMISSION_DURATION_MINUTES"=>:1, "P_SLEEP_INTERVAL_SECONDS"=>:2,
"P_FTP_SITE"=>:3, "P_FTP_ACCOUNT"=>:4, "P_PASSWORD"=>:5, "P_SOURCE_FILE"=>:6, "P_DESTINATION"=>7, "P_DESTINATION_FILE_NAME"=>:8,
"P_EMAIL_SUBJECT"=>:9, "P_EMAIL_RECIPIENT"=>:10, "P_EMAIL_BODY"=>:11, "P_EMAIL_ON_FAILED_ATTEMPT_FLAG"=>:12,
"P_DELETE_FROM_REMOTE_SITE_FLAG"=>:13, "P_CAMPAIGN_IDENTIFIER"=>:14, "P_FTP_MODE"=>:15, "P_FINAL_EMAIL_SUBJECT"=>:16,
"P_FINAL_EMAIL_BODY"=>:17):end;

‘817fb23W38d22 ‘BEGIN CIRC.VW_SUBS_TRANS_MEMO_SP.INS( 1, :2, :3, :4, 5, 16, 17, :8, :9, :10 ); END;

81s3j9muvvrér BEGIN CIRC_RPT.VW_SUBS_TRANS_CCARD_REQUEST_SP.INS( 1, :2, :3, :4, :5, :6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23,
:24,:25, :26, :27, :28, :29, :30 ); END;

8797a0njtpg3a SELECT SEARCH_ORDER, 1 PRIORITY , AREA_CODE , PHONE_NUMBER , PHONE_TYPE FROM PHONE , BROWSE_NAME , PHONE_TYPE WHERE
PHONE.PHONE_TYPE = PHONE_TYPE.CODE AND BROWSE_NAME.REC_ID = :b1 AND ( PHONE.BROWSE_ID = BROWSE_NAME.REC_ID ) AND
NVL(PHONE.UNLISTED , 'N') LIKE :b2 AND PHONE_TYPE.EMAIL ='N' UNION SELECT SEARCH_ORDER , 2 PRIORITY , AREA_CODE , PHONE_NUMBER ,
PHONE_TYPE FROM PHONE , BROWSE_NAME , PHONE_TYPE WHERE PHONE.PHONE_TYPE = PHONE_TYPE.CODE AND BROWSE_NAME.REC_ID =
b1 AND ( PHONE.HOUSEHOLD_ID = BROWSE_NAME.HOUSEHOLD_ID ) AND NVL(PHONE.UNLISTED , 'N') LIKE :b2 AND PHONE_TYPE.EMAIL ='N’
ORDERBY 1,2

\89vnk021ux0nm \BEGIN CIRC.VW_SUBS_TRANS_COMPLAINT_SP.INS(:1, :2, :3, :4, 5, 6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22 ); END;

[8in6s6r7yqgym  [SELECT RATE_TABLE, TRUNC( NVL(RENEW_SENT, NVL(START_DATE, SYSDATE))) RENEW_SENT FROM SUBSCRIPTION WHERE ACCOUNT=:B1

8m8dvpOkdvjah  [SELECT /*+ ORDERED USE_NL(TR) USE_NL(MV) USE_NL(SUB) USE_NL(BRWS) INDEX(MV) */ TR.ACCOUNT, TR.TRANS_NUM, HOUSEHOLD_ID,
MOVE_TO_ADDRESS, TRANS_DATE, SUB.SUBSCRIBER FROM CIRC.SUBS_MOVE_REROUTE MV, CIRC.SUBS_TRANS TR, CIRC.SUBSCRIPTION SUB,
ADDR.BROWSE_NAME BRWS WHERE (TR.ACCOUNT=SUB.ACCOUNT) AND (TR.TRANS_NUM=MV.TRANS_NUM) AND
(SUB.SUBSCRIBER=BRWS.REC_ID) AND (TRANS_TYPE=11) AND (MOVE_REROUTE_FLAG="Y") AND (TRANS_DATE <=TRUNC(SYSDATE)+1) AND
(DELETE_DATE IS NULL) AND (APPLIED_DATE IS NULL) ORDER BY TR.ACCOUNT, TR.TRANS_DATE

‘8tuf999kdch9w ‘SELECT UNALLOCATED FROM VW_CAR_INVOICE_UN WHERE ACCOUNT = :B1 AND BALANCE_TYPE='AR'

[8wahmwihwp424 |[BEGIN CIRC.VW_SUBS_REFUND_WOFF_HDR_SP.INS(:1, :2, :3, :4, :5, 6, :7, :8, :9 ); END;

[94njvpf21bf83 ‘SELECT * FROM CIRC.DRAW_DEADLINE WHERE PUBLICATION=:B2 AND PUB_DATE = TRUNC(:B1)

‘96C4ubpu90b9h ‘SELECT PUB_PRODUCT_PAPER FROM SUBSCRIPTION WHERE ACCOUNT=:B1

98cdstump8ajl SELECT TRANS_NUM FROM CIRC.SUBS_TRANS WHERE ACCOUNT=:B1 AND DELETE_DATE IS NULL AND (TRANS_TYPE NOT IN (9, 10, 11, 13, 14))
ORDER BY TRANS_DATE DESC, TRANS_TYPE DESC, TRANS_NUM DESC

‘QggttthSKpgf ‘BEGIN CIRC.VW_SUBS_MOVE_REROUTE_HDR_SP.INS(:1, :2, :3, :4, 5, 6, :7, :8, :9, :10, :11, :12 ); END;

‘aBBkOgSyagch ‘BEGIN CIRC.VW_CAR_ADJ_BATCH_DTL_ENTRY_SP.INS( :1, :2, :3, :4, :5, :6, :7, :8, :9, :10, :11, :12, :13 ); END;

‘a92vk52><0dmh8 ‘SELECT MAX(LAST_DATE) MAX_DATE FROM SUBS_UPDATE_RUN WHERE PUBLICATION=:B1 AND REAL_RUN="Y" AND FINISHED_DATE IS NOT NULL




amm826hmmyn07 [SELECT ST.TRANS_NUM, TRANS_DATE FROM SUBS_TRANS ST, SUBS_PAPCHG SP WHERE (ST.TRANS_NUM=SP.TRANS_NUM) AND (ACCOUNT=:B1)

AND (DELETE_DATE IS NULL) AND (TRANS_TYPE=4) AND (RESUME_TRANS_NUM IS NULL) ORDER BY TRANS_DATE DESC

ammbbygjc57du

BEGIN circ_rpt.vw_new_sub_start_SP.INS(:1, :2, :3, :4, :5, 6, 7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25, :26, :27, :28, :29,
:30, :31, :32, :33, :34, :35, :36, :37, :38, :39, :40, :41, :42, :43, :44, :45, :46, :47, :48, :49, :50, :51, :52, :53, :54, :55, :56, :57, :58, :59, :60, :61, :62, :63, :64, :65, :66,
67, :68, :69, :70, :71, :72, :73, :74, .75, .76, :77, :78, :79, :80, :81, :82, :83, :84, :85, :86, :87, :88, :89, :90, :91,:92, :93, :94, :95, :96, :97, :98, :99, :100, :101, :102,
1103, :104, :105, :106, :107, :108, :109, :110, :111, :112, :113, :114, :115, :116, :117, :118, :119, :120, :121, :122, :123, :124, :125, :126, :127, :128, :129, :130, :131,
1132, :133, :134, :135, :136, :137, :138, :139, :140, :141, :142, :143, :144, :145, :146, :147, :148, :149, :150, :151, :152, :153, :154, :155, :156, :157, :158, :159, :160,
161 ); END;

[atuyvvkdmac3r

\BEGIN circ.subs_update2.collect(100, 100, 1, Y', 'Y"); END;

azmw77508sqz1

SELECT /*+ ORDERED INDEX(RATE_SUBS IDX_RATE_SUBS_RT_PAP_PRD_VFROM) */ SUM(QUANTITY*AMOUNT) TOTAL FROM SUBS_PAPERS,
RATE_SUBS WHERE ( RATE_SUBS.PAPER_CODE = SUBS_PAPERS.PAPER_CODE ) AND ( SUBS_PAPERS.PROD_CODE = RATE_SUBS.PROD_CODE )
AND (RATE_SUBS.RATE_TABLE=:B3 ) AND ( SUBS_PAPERS.TRANS_NUM=:B2 ) AND ( TRUNC(:B1 ) BETWEEN RATE_SUBS.VALID_FROM AND
RATE_SUBS.VALID_UNTIL)

bOqwwsy6sqj7p

SELECT TRANS_NUM, TRANS_DATE, TRANS_TYPE, VALID_FROM, VALID_UNTIL FROM SUBS_TRANS WHERE (TRANS_TYPE>=:B3 AND
TRANS_TYPE<=:B2 ) AND ACCOUNT=:B1 AND DELETE_DATE IS NULL ORDER BY TRANS_DATE, TRANS_NUM FOR UPDATE OF VALID_UNTIL

b51ylla59mnv4

SELECT /*+ ORDERED USE_NL (st stop term) INDEX(sub) */ SUB.ACCOUNT, EXPIRE_DATE, BALANCE, TRANS_DATE, LAST_ACTIVITY, TERMINATION
FROM CIRC.SUBSCRIPTION SUB, CIRC.SUBS_TRANS ST, CIRC.SUBS_STOPS STOP, CIRC.TERMINATION TERM WHERE (PUBLICATION BETWEEN :B3
AND NVL(:B4 , :B3)) AND TO_COLLECT_DATE IS NULL AND TRUNC(BALANCE, 2) >= TRUNC(:B2 , 2) AND STATUS_ON_LAST_ACTIVITY=0 AND
SUB.ACCOUNT=ST.ACCOUNT AND TRANS_TYPE=1 AND ST.VALID_UNTIL=:B1 AND DELETE_DATE IS NULL AND ST.TRANS_NUM=STOP.TRANS_NUM
AND STOP.TERMINATION=TERM.CODE AND TRUNC(SYSDATE)-TRANS_DATE>=NDAYS_TFER_COLLECT ORDER BY SUB.ACCOUNT

|b8w84823huowj

‘UPDATE CIRC.SUBS_TRANS SET PAYS_THRU_DATE=:B3 , PAYS_THRU_BAL=:B2 WHERE TRANS_NUM=:B1

bkugb8h4q6dh6

SELECT SUB.ACCOUNT, TRANS_DATE, TERMINATION, WRITE_OFF_ALLOW, STOP_TYPE, BALANCE FROM SUBS_TRANS TR, SUBSCRIPTION SUB,
SUBS_STOPS STOP, TERMINATION TERM WHERE (SUB.ACCOUNT=TR.ACCOUNT) AND (TRANS_TYPE=1) AND (DELETE_DATE IS NULL) AND
(TR.TRANS_NUM=STOP.TRANS_NUM) AND (STOP.TERMINATION=TERM.CODE) AND (WRITE_OFF_ALLOW="Y") AND (PUBLICATION=:B5 ) AND
(STOP_TYPE='P') AND (TR.VALID_UNTIL=:B4 ) AND (TRANS_DATE <= TRUNC(:B3 ) - :B2 ) AND (BALANCE>0 AND BALANCE<=:B1 ) AND
SUB.TO_COLLECT_DATE IS NULL AND SUB.ACCOUNT_TYPE IS NULL UNION SELECT SUB.ACCOUNT, TRANS_DATE, TERMINATION,
WRITE_OFF_ALLOW, STOP_TYPE, BALANCE FROM SUBS_TRANS TR, SUBSCRIPTION SUB, SUBS_STOPS STOP, TERMINATION TERM WHERE
(SUB.ACCOUNT=TR.ACCOUNT) AND (TRANS_TYPE=1) AND (DELETE_DATE IS NULL) AND (TR.TRANS_NUM=STOP.TRANS_NUM) AND
(STOP.TERMINATION=TERM.CODE) AND (WRITE_OFF_ALLOW="Y") AND (PUBLICATION=:B5 ) AND (STOP_TYPE="T') AND (TR.VALID_UNTIL=:B4 ) AND
(TRANS_DATE <= TRUNC(:B3 ) - :B7 ) AND (BALANCE>0 AND BALANCE<=:B6 ) AND SUB.TO_COLLECT_DATE IS NULL AND SUB.ACCOUNT_TYPE IS
NULL UNION SELECT SUB.ACCOUNT, START_DATE, 'c, 'Y', 'C', BALANCE FROM SUBSCRIPTION SUB WHERE (SUB.PUBLICATION=:B5 ) AND (BALANCE
>0 AND BALANCE <= :B9 ) AND UTIL.SUB_TYPE_NUM(SUB.ACCOUNT, SYSDATE) = 1 AND SUB.TO_COLLECT_DATE IS NULL AND
(NVL(LAST_SUB_TYPE_ACTIVITY, START_DATE) <= TRUNC(:B3 ) - :B8 ) AND SUB.ACCOUNT_TYPE IS NULL UNION SELECT SUB.ACCOUNT,
TRANS_DATE, 'X', WRITE_OFF_ALLOW, 'X', TO _COLLECT_AMT FROM SUBS_TRANS TR, SUBSCRIPTION SUB, SUBS_STOPS STOP, TERMINATION
TERM WHERE (SUB.ACCOUNT=TR.ACCOUNT) AND (TRANS_TYPE=1) AND (DELETE_DATE IS NULL) AND (TR.TRANS_NUM=STOP.TRANS_NUM) AND
(STOP.TERMINATION=TERM.CODE) AND (WRITE_OFF_ALLOW="Y") AND (PUBLICATION=:B5 ) AND (TO_COLLECT_DATE <= TRUNC(:B3) - :B11 ) AND
(NVL(TO_COLLECT_AMT, 0)>0 AND NVL(TO_COLLECT_AMT, 0)<=:B10 ) AND SYSDATE BETWEEN TR.VALID_FROM AND TR.VALID_UNTIL AND
SUB.ACCOUNT_TYPE IS NULL

bsd05wzbuy311

SELECT TRANS_NUM, TRANS_DATE FROM CIRC.SUBS_TRANS WHERE ACCOUNT=:B3 AND DELETE_DATE IS NULL AND TRANS_DATE>=:B2 AND
(TRANS_TYPE NOT IN (9, 10, 11, 13, 14)) AND TRANS_DATE>:B1 ORDER BY TRANS_DATE, TRANS_TYPE, TRANS_NUM

bu96mupzvbwfr

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
SECURITY.PK_DYNEXPORT.EXPORT_FILE_BJOB(EXP_FILE_ID=>8001202, JOB_RUN_ID=>1226772, a_param_tab=>NOT USED~01/01/2010~A~DLN, EXL,
LBT, LWC, OCR, PSN, SGT~', a_nparam_tab=>4); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

[bx4m4n324y3uu

BEGIN CIRC.VW_SUBS_TRANS_START_SP.UPD(:19, :1, :2, :3, :4, :5, :6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18 ); END;




bxps4dnmcfifg

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/25/12', 'MM/DD/RR'), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y', A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'N', A_JOB_RUN_ID=>1226768); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

‘bxq2331526a83 ‘SELECT PUB_PRODUCT_PAPER FROM CIRC.SUBSCRIPTION WHERE ACCOUNT=:B1

\c77mttrapwf2u \SELECT PUBLICATION, BILL_THRU_DATE, EXPIRE_DATE FROM SUBSCRIPTION WHERE ACCOUNT=:B1

cffrqgk300fnyq DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/22/12', '"MM/DD/RR’), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>'N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y', A_CARRY_ALONG=>'Y', A_JOB_RUN_ID=>1226799); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

ckr8g65hugaw6  |[DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN

CIRC.COMPUTE_DRAW.BJOB_REQUEST(A_DRAW_DATE=> to_date('10/20/12','MM/DD/RR"), A_PUBLICATION=>100, A_EDITION=>NULL,
A_ROUTE=>NULL, A_DISTRICT=>NULL, A_SUBSCRIBERS=>'Y", A_SINGLE_COPY=>'Y', A_ZERO_DRAW_ONLY=>N', A_RUN_IN_BATCH=>NULL,
A_PRIMARY_PUB=>'Y", A_CARRY_ALONG=>'Y', A_JOB_RUN_ID=>1226778); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

cmxuz2ngwj10z

SELECT SUBS_TRANS.TRANS_NUM, TRANS_DATE, VALID_FROM, VALID_UNTIL, RATE_TABLE, RENEW_SENT FROM SUBS_TRANS, SUBS_PAPCHG
WHERE (SUBS_TRANS.TRANS_NUM=SUBS_PAPCHG.TRANS_NUM) AND (TRANS_TYPE=4 AND DELETE_DATE IS NULL AND ACCOUNT=:B3) AND ((:B2
BETWEEN VALID_FROM AND VALID_UNTIL) OR (:B1 -1 BETWEEN VALID_FROM AND VALID_UNTIL) OR (:B2 <VALID_FROM AND :B1 -1>VALID_UNTIL))
ORDER BY VALID_FROM

cg0x2jabc4381

SELECT /*+ ORDERED use_nl(subscription asr address_subacct subs_trans subs_papchg) use_nl(subs_papers pcod paper dubon) */
SUBSCRIPTION.ACCOUNT, PAPER.PUBLICATION, ASR.ROUTE, DECODE(COPY_TYPE, 'S, PAPER.DRAW_TYPE_SPEC_SECTION, DUBON.DRAW_TYPE)
DRAW_TYPE, SUBS_PAPERS.PROD_CODE, COPY_TYPE, BONUS_HOLIDAY_CODE, SUM(SUBS_PAPERS.QUANTITY) COPIES,
SUM(SUBS_PAPERS.QUANTITY * DECODE(CIRC.UTIL.SUB_TYPE_NUM(SUBSCRIPTION.ACCOUNT, :B2 , SUB_TYPE, LAST_SUB_TYPE_ACTIVITY,
SUB_TYPE_ON_LAST_ACTIVITY), 0, 1, 0)) COPIES_OP, SUM(DECODE(COMPUTE_DRAW.OLD_DATE( TRUNC(NVL(SUBS_PAPCHG.RENEW_SENT,
NVL(SUBSCRIPTION.RENEW_SENT, NVL(SUBSCRIPTION.START_DATE, SYSDATE)))), PAPER.PUBLICATION), 0, 0, SUBS_PAPERS.QUANTITY *
DECODE(CIRC.UTIL.SUB_TYPE_NUM(SUBSCRIPTION.ACCOUNT, :B2 , SUB_TYPE, LAST_SUB_TYPE_ACTIVITY, SUB_TYPE_ON_LAST_ACTIVITY), 0, 1,
0))) COPIES_OP_OLD, (SELECT 'Y' FROM CIRC.SUBS_TAG ST WHERE SUBSCRIPTION.ACCOUNT = ST.ACCOUNT AND ST.CODE = :B6 AND :B2
BETWEEN ST.VALID_FROM AND ST.VALID_UNTIL ) NO_BONUS_DAY FROM CIRC.ADDRESS_SUBACCT_ROUTE ASR, CIRC.ADDRESS_SUBACCT,
CIRC.SUBSCRIPTION, CIRC.SUBS_TRANS, CIRC.SUBS_PAPCHG, CIRC.SUBS_PAPERS, CIRC.VW_PRODUCT_CODE PCOD, CIRC.PAPER,
CIRC.DU_ROUTES_BONUS_HOL_SPEC DUBON WHERE ADDRESS_SUBACCT.ACCOUNT IS NOT NULL AND (:B2 BETWEEN
ADDRESS_SUBACCT.VALID_FROM AND ADDRESS_SUBACCT.VALID_UNTIL) AND ADDRESS_SUBACCT.ROW_ID = ASR.ADDRESS_SUBACCT_ROW
AND ASR.FREQUENCY IN (8, :B5) AND ADDRESS_SUBACCT.ACCOUNT = SUBSCRIPTION. ACCOUNT AND SUBSCRIPTION.PUBLICATION =
ADDRESS_SUBACCT.PUBLICATION AND ADDRESS_SUBACCT.PUBLICATION = ASR.PUBLICATION AND SUBS_TRANS.TRANS_NUM =
SUBS_PAPCHG.TRANS_NUM AND SUBSCRIPTION.ACCOUNT = SUBS_TRANS.ACCOUNT AND SUBS_TRANS.DELETE_DATE IS NULL AND (:B2
BETWEEN SUBS_TRANS.VALID_FROM AND SUBS_TRANS.VALID_UNTIL) AND SUBS_TRANS.TRANS_NUM = SUBS_PAPERS.TRANS_NUM AND
SUBS_TRANS.TRANS_TYPE =4 AND SUBS_PAPERS.PAPER_CODE = PAPER.CODE AND SUBS_PAPERS.PROD_CODE = PCOD.CODE AND
SUBSTR(PCOD.ALL_DAYS, DRAW_UTIL2.F_DAYNUM_FOR_DU(:B2 , PAPER.PUBLICATION, 'N'), 1)="N' AND ASR.PUBLICATION = :B4 AND ASR.ROUTE =
:B3 AND UTIL.SUB_STATUS(SUBSCRIPTION.ACCOUNT, :B2 , LAST_ACTIVITY, STATUS_ON_LAST_ACTIVITY)=1 AND NOT EXISTS (SELECT ACCOUNT
FROM CIRC.DU_DONATION_ACCT WHERE JOB_ID=:B1 AND ACCOUNT=SUBSCRIPTION.ACCOUNT) AND DUBON.JOB_ID=:B1 AND
DUBON.PUBLICATION=ASR.PUBLICATION AND DUBON.ROUTE=ASR.ROUTE AND DUBON.PROD_CODE=SUBS_PAPERS.PROD_CODE AND
DUBON.DELIVERY_PUB=PAPER.PUBLICATION AND (COPY_TYPE IN ('B', 'H) OR (COPY_TYPE='S' AND PAPER.DRAW_TYPE_SPEC_SECTION IS NOT
NULL)) AND EXISTS (SELECT JOB_ID FROM CIRC.DU_ROUTES_BONUS_HOL_SPEC WHERE JOB_ID=:B1 AND PUBLICATION=ASR.PUBLICATION AND
ROUTE=ASR.ROUTE) GROUP BY SUBSCRIPTION.ACCOUNT, ASR.ROUTE, PAPER.PUBLICATION, SUBS_PAPERS.PROD_CODE, COPY_TYPE,
BONUS_HOLIDAY_CODE, DECODE(COPY_TYPE, 'S, PAPER.DRAW_TYPE_SPEC_SECTION, DUBON.DRAW_TYPE) ORDER BY
SUBSCRIPTION.ACCOUNT ASC, COPY_TYPE DESC

|cs0770qr3qcaz

‘SELECT * FROM VW_SUBS_NAME_ADDRESS_ID WHERE ACCOUNT=:B1

\025t28pn5876y

‘SELECT SUB_TYPE FROM SUBSCRIPTION WHERE ACCOUNT=:B1




cz79290h80y79

BEGIN CIRC_RPT.VW_NEW_SUB_START_SP.UPD(:161, 11, :2, :3, :4, :5, 6, :7, :8, 9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25, :26,
127,28, :29, :30, :31, :32, :33, :34, :35, :36, :37, :38, :39, :40, :41, :42, :43, :44, :45, :46, :47, :48, :49, :50, :51, :52, :53, :54, :55, :56, :57, :58, :59, :60, :61, :62, :63,

:64, 65, :66, :67, :68, :69, :70, :71,:72, :73, :74, :75, :76, :77, :78, :79, :80, :81, :82, :83, :84, :85, :86, :87, :88, :89, :90, :91, :92, :93, :94, :95, :96, :97, :98, :99, :100,
1101, :102, :103, :104, :105, :106, :107, :108, :109, :110, :111, :112, :113, :114, :115, :116, :117, :118, :119, :120, :121, :122, :123, :124, :125, :126, :127, :128, :129,
1130, :131, :132, :133, :134, :135, :136, :137, :138, :139, :140, :141, :142, :143, :144, :145, :146, :147, :148, :149, :150, :151, :152, :153, :154, :155, :156, :157, :158,
1159, :160 ); END;

d7nvkg43z6hms

SELECT SYMBOL SYMBOL, ACCOUNT ACCOUNT, ALIAS_ACCT_SET ALIAS_ACCT_SET, TO_CHAR(TRANS_DATE, 'YYYYMMDD') TRANS_DATE,
TRANS_TYPE_NUM TRANS_TYPE_NUM, ATTENTION_LINE ATTENTION_LINE, HOUSE HOUSE, CITY_NAME CITY_NAME, replace(replace("COMMENTS",
chr(13), '), chr(10), ') CO_FORMATTED, FIRST_NAME FIRST_NAME, LAST_NAME LAST_NAME, FST_DIR FST_DIR, PHONE_1 PHONE_1, PROD_CODE
PROD_CODE, SND_DIR SND_DIR, STATE STATE, STREET STREET, SUB_DISTRICT SUB_DISTRICT, UNIT UNIT, ZIP ZIP,
replace(replace("DELIVERY_INST", chr(13), '), chr(10), ' ) DI_FORMATTED, TO_CHAR(VALID_UNTIL, 'YYYYMMDD") VALID_UNTIL, STREET_SUFFIX
STREET_SUFFIX, circ.papers.copies_for_acct(account, SYSDATE + 1, 'Q', NULL, 'N', NULL, 'N', NULL, 'E') COPIES_FOR_DATE, PRIOR_SUNDAY
PRIOR_SUNDAY, ROUTE ROUTE, substr(route, 6, 2) SUBZIP, TRANS_TYPE TRANS_TYPE, substr((TRANS_DTL, 10, 3) VACPACKDET,
ALIAS_SYSTEM_CODE ALIAS_SYSTEM_CODE, PRIOR_PROD_CODE PRIOR_PROD_CODE, PREV_COPIES PREV_COPIES,
TO_CHAR(trunc(ENTRY_DATE), 'MM/DD/YYYY') CALL_DATE, TO_CHAR(ENTRY_DATE, 'HH24:MI:SS') ENTRY_DATE FROM
CIRC_RPT.VW_SUBS_TRANS_EXP_DRW WHERE ("ALIAS_SYSTEM_CODE" LIKE '%' OR "ALIAS_SYSTEM_CODE" IS NULL) and "ENTRY_DATE" > '01-jan-
2000' and (TRANS_TYPE_NUM in (1, 2, 3, 4, 10) or (TRANS_TYPE_NUM = 11 and TRANS_TYPE <>'ADDS')) and TRANS_DATE = trunc(sysdate + 1) and not
(SYMBOL ="LAT"' and ALIAS_SYSTEM_CODE is not NULL and ALIAS_SYSTEM_CODE <> 'LAT"' and account IN(SELECT account_number from
circ.account_alias where alias_syst em_code = 'LAT')) and SYMBOL not like '%ELAT%' and SUB_DISTRICT > 1 and ((A"' = 'A"and SYMBOL not in (DLN', 'EXL',
'LBT', LWC', 'OCR’, 'PSN', 'SGT', 'WDN", 'SSLP", 'SSLSG', 'SSLW', 'PSNTV', 'SGVTT', LBPTT', ' DNTV', 'WDNTV", 'OCTV', 'LWTV")) or (A" = 'B' and SYMBOL in
('DLN', 'EXL', 'LBT', 'LWC', 'OCR’, 'PSN', 'SGT', 'WDN', 'SSLP', 'SSLSG', 'SSLW', 'PSNTV', 'SGVTT', 'LBPTT', ' DNTV', 'WDNTV', 'OCTV', 'LWTV') ) )

dsfjcd2tfthg

SELECT AMOUNT, TRANS_NUM, TRANS_TYPE, BACK_OP, MEMO FROM VW_SUBS_TRANS_FINANCIAL WHERE (ACCOUNT=:B4 ) AND (TRANS_DATE
<=:B3) AND (TRANS_TYPE BETWEEN :B2 AND :B1 ) AND (APPLIED_DATE IS NULL)

dbvnxxqlhhdks

SELECT /*+ ORDERED use_nl(SUBSCRIPTION, ADDRESS_SUBACCT, ADDRESS_SUBACCT_ROUTE, ROUTE) */
ADDRESS_SUBACCT_ROUTE.PUBLICATION, ADDRESS_SUBACCT_ROUTE.ROUTE, DISTRICT, ROUTE_TYPE, ADDRESS_SUBACCT.ACCOUNT,
UTIL.SUB_TYPE_NUM(SUBSCRIPTION.ACCOUNT, :B1, SUB_TYPE, LAST_SUB_TYPE_ACTIVITY, SUB_TYPE_ON_LAST_ACTIVITY) SUB_TYPE,
CUT_TO_CC, EXPIRE_DATE, START_DATE, BILL_THRU_DATE, NVL(GRACE_EXTEND_DAYS, 0) GRACE_EXTEND_DAYS,
ADDRESS_SUBACCT_ROUTE.ADDRESS_ID FROM SUBSCRIPTION, ADDRESS_SUBACCT, ADDRESS_SUBACCT_ROUTE, ROUTE WHERE (
ADDRESS_SUBACCT_ROUTE.ADDRESS_SUBACCT_ROW = ADDRESS_SUBACCT.ROW_ID ) AND ( ADDRESS_SUBACCT.ADDRESS_ID IS NULL ) AND (
ADDRESS_SUBACCT.ACCOUNT = SUBSCRIPTION.ACCOUNT ) AND ( ADDRESS_SUBACCT_ROUTE.PUBLICATION =
ADDRESS_SUBACCT.PUBLICATION) AND ( ADDRESS_SUBACCT_ROUTE.PUBLICATION = ROUTE.PUBLICATION) AND (
ADDRESS_SUBACCT_ROUTE.ROUTE = ROUTE.ROUTE) AND (ROUTE.PUBLICATION = :B4 ) AND (ROUTE.ROUTE LIKE :B3 ) AND (DISTRICT LIKE :B2)
AND (:B1 BETWEEN VALID_FROM AND VALID_UNTIL) AND (FREQUENCY=8 OR FREQUENCY=PAPERTRAK.PKDATE.DAYNUM_DSI(:B1 )) AND
(SUBS_CUT.F_CUT_CANDIDATE(SUBSCRIPTION.ACCOUNT, :B1 , EXPIRE_DATE, SUB_TYPE, LAST_SUB_TYPE_ACTIVITY,
SUB_TYPE_ON_LAST_ACTIVITY, LAST_ACTIVITY, STATUS_ON_LAST_ACTIVITY) = 'Y") AND (EXPIRE_DATE < :B1) AND ( (NOT (LAST_SUB_TYPE=1 AND
LAST_SUB_TYPE_ACTIVITY < :B1) AND DECODE(LAST_SUB_TYPE, 1, 1, 0)=1) OR NOT (STATUS_ON_LAST_ACTIVITY=0 AND LAST_ACTIVITY < :B1))

‘dttyOchO:a’lntx

‘BEGIN CIRC.VW_SUBS_TRANS_PCHG_HDR_SP.UPD(:29, :1, :2, :3, 4, :5, :6, 17, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25,
126, :27,:28 ); END;

[f2a45dk38dgsy

\select count ( *) from security.site_priv where priv_id like 'PS%'

|f2q11jg13zyst

‘BEGIN CIRC.VW_SUBS_TRANS_PCHG_DTL_SP.INS( 1, :2, :3, :4, :5, :6, :7, :8 ); END;

‘fsfymkzjsijk

‘BEGIN CIRC.VW_SUBS_TRANS_VACATION_SP.INS( :1, :2, :3, :4, :5, :6, :7, :8, :9, :10, :11, :12, :13, :14, :15, :16, :17, :18, :19, :20, :21, :22, :23, :24, :25, :26, :27,
:28,:29); END;

[ffi33x2dmzmob

[BEGIN :rc := CIRC.CAR_ADJ_XFER.F_TRANSFER(:0, :1, :2, :3, :4); END;

fnydp4a63pkom

SELECT FIRST_DATE, LAST_DATE FROM SUBS_UPDATE_RUN WHERE PUBLICATION=:B1 AND REAL_RUN="Y' AND LAST_DATE=(SELECT
MAX(LAST_DATE) FROM SUBS_UPDATE_RUN WHERE PUBLICATION=:B1 AND REAL_RUN="Y")




fsk6ay4dx9s6h

DECLARE job BINARY_INTEGER := :job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.PK_TRUCK_MANIFEST.PREP_MANIFEST_SG_BJOB(A_SCHEME_GROUP=>'LAT HD', A_SCHEME_ID=>'LAT DAILY', A_FROM_TRUCK=>NULL,
A_THRU_TRUCK=>NULL, A_LEVEL=>NULL, A_DRAW_DATE=> to_date('10/26/12', 'MM/DD/RR"), A_COMBINE_UP_TO=>NULL, A_SUPPLIES_TM=>'N',
A_JOB_RUN_ID=>1226776); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;

|g7x5fztkgel7y

SELECT PUBLICATION FROM CIRC.SUBSCRIPTION WHERE ACCOUNT=:B1

gpsgysttf8ced

SELECT /*+ ordered use_nl(sb subs_bill_papers rate_subs rate_type_subs) index(rate_subs) */ SB.ACCOUNT, SB.ROW_ID, SB.BILL_DATE, SB.AMT_BILLED,
SB.CURRENT_TERM, SB.BILL_TYPE, SB.RATE_TABLE, SUM(RATE_SUBS.AMOUNT * SUBS_BILL_PAPERS.QUANTITY) RATE, 0.0 TAX_AMT,
EASY_PREPAY_TYPE, AMT_EASY_PREPAY, EXPIRE_DATE, NOTICE_NUM, NEW_END_DATE, BASE_TYPE FROM SUBS_BILL SB, SUBS_BILL_PAPERS,
RATE_SUBS, RATE_TYPE_SUBS WHERE SB.ACCOUNT =:B1 AND SB.ROW_ID=(SELECT MAX(ROW_ID) FROM CIRC.SUBS_BILL WHERE ACCOUNT =
SB.ACCOUNT) AND SUBS_BILL_PAPERS.SUBS_BILL_ROW = SB.ROW_ID AND SUBS_BILL_PAPERS.PAPER_CODE = RATE_SUBS.PAPER_CODE AND
SUBS_BILL_PAPERS.PROD_CODE = RATE_SUBS.PROD_CODE AND RATE_TYPE_SUBS.RATE_TABLE = SB.RATE_TABLE AND
RATE_SUBS.RATE_TABLE = RATE_TYPE_SUBS.RATE_TABLE AND (SB.RATE_DATE BETWEEN RATE_SUBS.VALID_FROM AND
RATE_SUBS.VALID_UNTIL) AND (NUM_PERIOD = SB.CURRENT_TERM OR SB.CURRENT_TERM IS NULL) GROUP BY SB.ACCOUNT, SB.ROW_|ID,
SB.BILL_DATE, SB.AMT_BILLED, SB.CURRENT_TERM, SB.BILL_TYPE, SB.RATE_TABLE, RATE_TYPE_SUBS.RATE_TABLE, EASY_PREPAY_TYPE,
AMT_EASY_PREPAY, EXPIRE_DATE, NOTICE_NUM, NEW_END_DATE, BASE_TYPE

gr2dmtaxwkdnw

SELECT /*+ ORDERED * QUANTITY, PAPER_CODE, PROD_CODE, PAID, PAPER.PUBLICATION FROM SUBS_TRANS, SUBS_PAPERS, PAPER,
PUBLICATION, DRAW_TYPE WHERE ACCOUNT=:B5 AND DELETE_DATE IS NULL AND TRANS_TYPE=4 AND :B4 BETWEEN VALID_FROM AND
VALID_UNTIL AND SUBS_TRANS.TRANS_NUM=SUBS_PAPERS.TRANS_NUM AND SUBS_PAPERS.PAPER_CODE=PAPER.CODE AND
PAPER.DRAW_TYPE=DRAW_TYPE.CODE AND PAPER.PUBLICATION=PUBLICATION.PUBLICATION AND
(PAPERS.PUB_PUBLISHED(PAPER.PUBLICATION, :B4 )="Y' OR NVL(:B3 , 'N')='N') AND (:B2 IS NULL OR :B2 = SUBS_PAPERS.PAPER_CODE) AND ((:B1 IN
(X', 'I) OR (:B1 = 'E' AND E_EDITION_FOR_PUB IS NULL) OR (:B1 = 'O’ AND E_EDITION_FOR_PUB IS NOT NULL))

gwl1v6y00jz3nr

DECLARE job BINARY_INTEGER :=:job; next_date DATE := :mydate; broken BOOLEAN := FALSE; BEGIN
CIRC.SUBS_CUT.CREATE_BATCH_BJOB(A_BATCH_NUM=>NULL, A_PUB=>100, A_DISTRICT=>'%', A_ ROUTE=>'%', A_CUT_DATE=> to_date('10/21/12',
'MM/DD/RR'), A_MODE=>R', A_DO_POST=>'Y", A_JOB_RUN_ID=>1226789); :mydate := next_date; IF broken THEN :b := 1; ELSE :b := 0; END IF; END;
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Instance Activity Stats|

[CPU used by this session | 863,108 | 119.77 | 15.57
|CPU used when call started | 304,338 | 42.23 | 5.49
|CR blocks created | 63,746 | 8.85 | 1.15

1 Comment [K18]:
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| typically focus on PER TRANS, locate high valu
| donot under st and, Go
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[Cached Commit SCN referenced | 3,442 | 0.48| 0.06
|Commit SCN cached | 2| 0.00 | 0.00
|DB time | 9,660,305 | 1,340.47 | 174.26
[DBWR checkpoint buffers written | 152,213 | 21.12| 2.75
[DBWR checkpoints | 12| 0.00 | 0.00
|DBWR object drop buffers written | 0 | 0.00 | 0.00
|DBWR revisited being-written buffer | 0 | 0.00 | 0.00
|DBWR tablespace checkpoint buffers written | 5,486 | 0.76 | 0.10
|DBWR thread checkpoint buffers written | 146,727 | 20.36 | 2.65
[DBWR transaction table writes | 46 | 0.01| 0.00
[DBWR undo block writes | 88,623 | 12.30 | 1.60
[IMU CR rollbacks | 1,883 | 0.26 | 0.03
IMU Flushes | 15,500 | 2.15 | 0.28
IMU Redo allocation size | 125,623,828 | 17,431.69 | 2,266.06
IMU commits | 37,803 | 5.25 | 0.68
[IMU contention | 9% | 0.01| 0.00
[IMU Kktichg flush | 1,049 | 0.15 | 0.02
IMU pool not allocated | 4,375 | 0.61| 0.08
|IMU recursive-transaction flush | 11 | 0.00 | 0.00
IMU undo allocation size | 227,964,872  31,632.63 | 4,112.14
|IMU— failed to get a private strand | 4,375 | 0.61 | 0.08
|Misses for writing mapping | 0 | 0.00 | 0.00
|SMON posted for undo segment recovery | 0 | 0.00 | 0.00
|SMON posted for undo segment shrink | 4 | 0.00 | 0.00
[SQL*Net rounditrips to/from client | 684,208 | 94.94 | 12.34
[active txn count during cleanout | 78,002 | 10.82 | 141
|app|ication wait time | 1,735 | 0.24 | 0.03
[background checkpoints completed | 10 0.00 | 0.00
[background checkpoints started | 10| 0.00 | 0.00
|backgr0und timeouts | 23,044 | 3.20 | 0.42
[branch node splits | 2| 0.00 | 0.00
[buffer is not pinned count | 719,966,750 |  99,903.29 [  12,987.12
[buffer is pinned count [ 1930024782 267,812.13|  34,814.74
[bytes received via SQL*Net from client | 170,514,106 |  23,660.70 | 3,075.82




[bytes sent via SQL*Net to client | 339,840,403 |  47,156.59 | 6,130.21
|calls to get snapshot scn: kemgss | 25,016,928 | 3,471.37 | 451.27
|calls to kemgas | 317,037 | 43.99 | 5.72
[calls to kemgcs | 28,913 | 401 0.52
[change write time | 4,788 0.66 | 0.09
|c|ean0ut - number of ktugct calls | 70,373 | 9.77 | 1.27
|c|eanouts and rollbacks - consistent read gets | 54,647 | 7.58 | 0.99
|c|ean0uts only - consistent read gets | 627 | 0.09 | 0.01
|cluster key scan block gets | 1,120,880 | 155.53 | 20.22
[cluster key scans | 682,859 | 94.75 | 12.32
|commit batch performed | 0 | 0.00 | 0.00
|c0mmit batch requested | 0 | 0.00 | 0.00
|commit batch/immediate performed | 278 0.04 | 0.01
|c0mmit batch/immediate requested | 278 | 0.04 | 0.01
[commit cleanout failures: block lost | 7,515 | 1.04 | 0.14
[commit cleanout failures: buffer being written | 1| 0.00 | 0.00
|commit cleanout failures: callback failure | 142 | 0.02 | 0.00
[commit cleanout failures: cannot pin | 14 0.00 | 0.00
[commit cleanouts | 248,613 | 34.50 | 4.48
|commit cleanouts successfully completed | 240,941 | 33.43 | 4.35
|commit immediate performed | 278 | 0.04 | 0.01
|c0mmit immediate requested | 278 | 0.04 | 0.01
|c0mmit txn count during cleanout | 33,187 | 4.61 | 0.60
[concurrency wait time | 6,058 | 0.84 | 0.11
[consistent changes | 938,311 | 130.20 | 16.93
[consistent gets | 1,336,750200| 185488.77  24,112.9¢
|consistent gets - examination | 909,200,981 |  126,161.62|  16,400.62
[consistent gets direct | 0| 0.00 | 0.00
[consistent gets from cache | 1336750172 185488.76|  24,112.96
|current blocks converted for CR | 0 | 0.00 | 0.00
|cursor authentications | 56,966 | 7.90 | 1.03
|data blocks consistent reads - undo records applied | 830,039 | 115.18 | 14.97
[db block changes | 15,733,174 | 2,183.15 | 283.80
[db block gets | 13,784,365 | 1,912.73| 248.65
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EXECUTE COUNT
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This app may have beam MSACCESS program
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|db block gets direct | 132 | 0.02 | 0.00
|db block gets from cache | 13,784,233 | 1,912.71 | 248.65
|deferred (CURRENT) block cleanout applications | 108,202 | 15.01 | 1.95
|dirty buffers inspected | 5 0.00 | 0.00
|enqueue conversions | 4,373 | 0.61 | 0.08
lenqueue deadlocks | 0| 0.00 | 0.00
|enqueue releases | 404,440 | 56.12 | 7.30
lenqueue requests | 404,556 | 56.14 | 7.30
lenqueue timeouts | 161 | 0.02 | 0.00
[enqueue waits | 42| 0.01| 0.00
|exchange deadlocks | 1 | 0.00 | 0.00
[execute count | 24,626,830 | 3,417.24 | 444.23
|failed probes on index block reclamation | 19| 0.00 | 0.00
|frame signature mismatch | 0| 0.00 | 0.00
[free buffer inspected | 167,154 | 23.19 3.02
[free buffer requested | 568,865 | 78.94 | 10.26
|heap block compress | 627,052 | 87.01 | 11.31
|hot buffers moved to head of LRU | 288,712 | 40.06 | 5.21
[immediate (CR) block cleanout applications | 55,274 | 7.67| 1.00
|immediate (CURRENT) block cleanout applications | 32,937 | 4.57 | 0.59
|index crx upgrade (found) | 29 | 0.00 | 0.00
|index crx upgrade (positioned) | 4,232,989 | 587.37 | 76.36
[index fast full scans (full) | 5,587 | 0.78| 0.10
[index fetch by key | 415,282,885  57,625.06 | 7,491.08
index scans kdiixs1 | 56,163,384 | 7,793.29 | 1,013.10
liava call heap collected bytes | 6,275,568 | 870.80 | 113.20
ljava call heap collected count | 66,147 | 9.18 1.19
iava call heap gc count | 67 | 0.01 | 0.00
java call heap live object count | 7,243 | 1.01 | 0.13
java call heap live object count max | 7,475 | 1.04 | 0.13
java call heap live size | 1,671,280 | 231.91 | 30.15
ljiava call heap live size max | 2,068,728 | 287.06 | 37.32
|java call heap object count | 12,885 | 1.79 | 0.23
ljava call heap object count max | 15,711 | 2.18| 0.28




|java call heap total size | 3,284,480 | 455.76 | 59.25
java call heap total size max | 3,284,480 | 455.76 | 59.25
llava call heap used size | 2,235,616 | 310.22 | 40.33
java call heap used size max | 2,741,488 | 380.41 | 49.45
[leaf node 90-10 splits | 498 | 0.07 | 0.01
[leaf node splits | 2,426 | 0.34 0.04
[lob reads | 66 | 0.01| 0.00
[lob writes | 593 | 0.08 | 0.01
[lob writes unaligned | 593 | 0.08 | 0.01
logons cumulative | 1,901 | 0.26 | 0.03
[messages received | 34,240 | 4.75 | 0.62
|messages sent | 34,240 | 4.75 | 0.62
[no buffer to keep pinned count | 0| 0.00 | 0.00
[no work - consistent read gets | 422,313,987  58,600.70 | 7,617.91
[opened cursors cumulative | 1,382,258 | 191.80 | 24.93
[parse count (failures) | 47 | 0.01| 0.00
|parse count (hard) | 47,206 | 6.55 | 0.85
[parse count (total) | 1,519,434 | 210.84 | 27.41
[parse time cpu | 12,276 | 1.70 | 0.22
|parse time elapsed | 15,008 | 2.08 | 0.27
[physical read 10 requests | 249,047 | 34.56 | 4.49
[physical read bytes [ 2,008405376 291,176.78|  37,852.07
|physical read total 10 requests | 617,225 | 85.65 | 11.13
[physical read total bytes [ststtmmmmmmmns | 23,989,606.00 | 3,118573.92
|physical read total multi block requests | 320,922 | 44.53 | 5.79
[physical reads | 256,153 | 35.54 | 4.62
|physical reads cache | 255,883 | 35.51 | 4.62
[physical reads cache prefetch | 7,106 | 0.99 | 0.13
[physical reads direct | 270 | 0.04 | 0.00
|physical reads direct (lob) | 0 | 0.00 | 0.00
|physical reads direct temporary tablespace | 0 | 0.00 | 0.00
|physical reads prefetch warmup | 0 | 0.00 | 0.00
|physical write 10 requests | 115,721 | 16.06 | 2.09
[physical write bytes [ 1350664192 187,419.48|  24,363.95




|physical write total 10 requests | 218,186 | 30.28 | 3.94
[physical write total bytes | 74,101,667,840 | 10,282,419.92 | 1,336,682.50
[physical write total multi block requests | 139,655 | 19.38 | 2.52
[physical writes | 164,876 | 22.88| 2.97
[physical writes direct | 402 | 0.06 | 0.01
|physical writes direct (lob) | 78 | 0.01 | 0.00
|physical writes direct temporary tablespace | 0 | 0.00 | 0.00
|physical writes from cache | 164,474 | 22.82 | 2.97
|physical writes non checkpoint | 123,947 | 17.20 | 2.24
[pinned buffers inspected | 2,374 | 0.33] 0.04
|prefetch warmup blocks aged out before use | 0 | 0.00 | 0.00
|prefetched blocks aged out before use | 0 | 0.00 | 0.00
[process last non-idle time | 7,557 | 1.05 | 0.14
|recovery blocks read | 0 | 0.00 | 0.00
[recursive aborts on index block reclamation | 0| 0.00 | 0.00
[recursive calls | 72,287,769 | 10,030.72 | 1,303.96
|recursive cpu usage | 804,185 | 111.59 | 14.51
[redo blocks read for recovery | 0| 0.00 | 0.00
[redo blocks written | 4,034,910 | 559.89 | 72.78
|redo buffer allocation retries | 66 | 0.01 | 0.00
[redo entries | 7,672,118 | 1,064.59 | 138.39
|redo log space requests | 43 | 0.01 | 0.00
|redo log space wait time | 730 | 0.10 | 0.01
|redo ordering marks | 502 | 0.07 | 0.01
[redo size [ 1967022396 272,94595|  35482.12
[redo synch time | 35,693 | 495 0.64
|redo synch writes | 9,756 | 1.35 | 0.18
[redo wastage | 8,349,664 | 1,158.61 | 150.62
[redo write time | 60,340 | 8.37 1.09
|redo writer latching time | 0 | 0.00 | 0.00
[redo writes | 30,944 | 429 0.56
|rollback changes - undo records applied | 666,950 | 92.55 | 12.03
|rollbacks only - consistent read gets | 9,117 | 1.27 | 0.16
[rows fetched via callback | 70,182,228 | 9,738.55 | 1,265.98




|sessi0n connect time | 0 | 0.00 | 0.00
|session cursor cache hits | 251,725 | 34.93 | 454
session logical reads | 1350535281 187,401.60|  24,361.62
[session pga memory | 161,176,960 |  22,365.07 | 2,907.39
[session pga memory max | 34,707,559,168 | 4,816,054.86 | 626,072.10
[session uga memory [t [110,823,137.47 | 14,406,662.03
|sessi0n uga memory max | 5,009,905,608 | 695,179.40 | 90,371.15
|shared hash latch upgrades - no wait | 14,426,416 | 2,001.82 | 260.23
|shared hash latch upgrades - wait | 32 | 0.00 | 0.00
[sorts (disk) | 0| 0.00 | 0.00
[sorts (memory) | 2,535,107 | 351.77|| 45.73
[sorts (rows) | 82,227,635 | 11,409.99 | 1,483.26
|sql area evicted | 90,408 | 12.55 | 1.63
|sq| area purged | 58 | 0.01 | 0.00
[summed dirty queue length | 5| 0.00 | 0.00
[switch current to new buffer | 171,277 | 23.77 | 3.09
[table fetch by rowid [ 1108167338 15377038  19,989.67
[table fetch continued row | 1,964,982 | 272.66 | 35.45
[table scan blocks gotten | 18,539,180 | 257251 334.42
[table scan rows gotten [ 2460052446 341,350.28|  44,375.64
|tab|e scans (cache partitions) | 0 | 0.00 | 0.00
|table scans (long tables) | 1 | 0.00 | 0.00
[table scans (short tables) | 262,413 | 36.41 | 4.73
[total number of times SMON posted | 2,267 | 0.31 0.04
|transacti0n rollbacks | 278 | 0.04 | 0.01
[transaction tables consistent read rollbacks | 4| 0.00 | 0.00
|transaction tables consistent reads - undo records applied | 2,700 | 0.37 | 0.05
[undo change vector size | 688,501,420 |  95537.13|  12,419.53
|user 1/0 wait time | 439,800 | 61.03| 7.93
|user calls | 676,148 | 93.82 | 12.20
|user commits | 55,250 | 7.67 | 1.00
|user rollbacks | 187 | 0.03 | 0.00
|W0rkarea executions - onepass | 0 | 0.00 | 0.00
|workarea executions - optimal | 1,732,719 | 240.43 | 31.26




|write clones created in background

0| 0.00 |

0.00

|write clones created in foreground

83| 0.01|

0.00
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Instance Activity Stats - Absolute Values

| statistics with absolute values (should not be diffed)

Statistic Begin Value | End Value

|session cursor cache count | 10,707,102 | 10,735,808

|opened cursors current | 7,138 | 5,454
|workarea memory allocated | 79,396 | 427
[logons current | 163 | 129
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Instance Activity Stats - Thread Activity

9§ statistics identified by '(derived)' come from sources other than SYSSTAT

|Iog switches (derived) | 10 | 5.00
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{ Tablespace IO Stats
{ EilelO Stats




Back to Top

Tablespace IO Stats

I ordered by I0s (Reads + Writes) desc

Tablespace Av Reads/s | Av Rd(ms) | Av Blks/Rd Buffer Waits | Av Buf Wt(ms)

[cire [208,322| 29| 20.95 | 1.03 [ 59,038 | 28 0.36)
[UNDOTBS1 [ 18] 0| 8.89 | 1.00 | 51,679 | 7 | 33 0.00
[ADDR [ 34,317 5| 19.16 | 1.04| 881 0| 0| 0.00
|[SECURITY [ 1,702 0| 24.08 | 1.00| 985 0| 0| 0.00
[CRONACLE_INDEX | 856 | 0| 24.38 | 1.00| 1,268 0| 0| 0.00
[SYSTEM [ 1,964 | 0| 8.27 | 101 138 0| 4 0.00
[sysaux [ 625 0| 21.95 | 1.07[ 1,416 0| 0| 0.00
|USER_DATA [ 8o 0| 0.18| 1.00 | 18| 0| 0| 0.00
[CRONACLE [ 275 0| 27.82 1.00[ 201 0| 1 0.00
[TEMPORARY_DATA| 20| 0| 34.00 | 100 23 0| 0| 0.00
[DsI | 16 | 0| 2313 1.00 | 10 0| 0| 0.00
[PAPERTRAK [ 12| of 35.00 | 100[ 11 o of 0.00
[USER_INDEx01 | 10| o 115.00] 1.00[ 11 0| 0| 0.00
[aDV [ 10] 0| 68.00 | 1.00[ 10| 0| 0| 0.00
[cAsH | 10 | 0| 2.00 | 1.00 | 10 | 0| 0| 0.00
[CLIENT | 10 | 0| 1.00 | 1.00 | 10 0| 0| 0.00
[RBBIG [ 10] 0| 59.00 | 1.00[ 10| 0| 0| 0.00

~| Comment [K21]:

DISK I/0 TIME

Av Rd (ms) tells how long a physical disk takes
while Av Buf Wt (ms) tells how long an average
physical disk write takes.

3-4ms is very good,-40ms is OK, over 10 usily
means you need to talk to your storage team to
understand why itds so

READ TIME is much more important than WRITE
TIME. Reads occur synchronously while Oracle i
processing your SQL. Writes occur asynchronous
in the background when Oracleded e s i t &
write the changed data to disk.

When the number of READS or WRITES is very
low, | tend to see much higher retiche and write
time. Not sure why.

CIRC is the busiest tablespdfoe reads and each
read takes 20.95ms. Talk to the storage team

Back to IO Stats
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File IO Stats

I ordered by Tablespace, File

Av Av Buffer Av Buf

|ADDR |/oracle/oradata/datal/DSILAPRD/addr_DSILAPRD.dbf

[ 34317

19. 16|

1.04 |




|ADV |foracle/oradata/datal/DSILAPRD/adv_DSILAPRD.dbf | 10 | 0| 68.00 | 1.00 | 10 | 0| 0| 0.00
[cAsH |/oracle/oradata/datal/DSILAPRD/cash_DSILAPRD.dbf | 10| 0| 2.00 | 1.00 | 10 | 0| 0| 0.00
[circ |foracle/oradata/data2/DSILAPRD/circ_DSILAPRD.dbf | 52,848 | 7| 17.07 | 1.01 | 16,610 | 2| 4| 250 ( Comment [22]:
|cIrRC |foracle/oradata/data2/DSILAPRD/circ_DSILAPRD_02.dbf | 24,951 | 3| 22.99 | 1.02| 5,404 | 1| 6| 0.00

: FILE /O vs. TABLESPACE I/O
[cIrRc |/oracle/oradata/data2/DSILAPRD/circ_DSILAPRD_03.dbf | 17,799 | 2| 27.65 | 1.04| 4,355 | 1 0| 0.00
[cIrRc |/oracle/oradata/data2/DSILAPRD/circ_DSILAPRD_04.dbf | 20,712 | 3| 21.05 | 1.03| 6,620 1| 0| 0.00 The previous section showed that the CIRC

- tablespace had the most I/O and it was slow reac
[circ |foracleforadata/data2/DSILAPRD/circ_DSILAPRD_05.dbf | 18,561 | 3| 1874 1.05[ 4,675 1 o 0.00 This section lists all of the files in the CIRG
[cIrRC |/oracle/oradata/data2/DSILAPRD/circ_DSILAPRD_06.dbf | 21,868 | 3| 18.07 | 1.03| 6,439 | 1| 0| 0.00 tablespace.
[cIrRC |foracle/oradata/data2/DSILAPRD/circ_DSILAPRD_07.dbf | 18,311 | 3| 2467 1.03| 6,613 1| 17 | 0.00 it e o (AR aariis: cae ot ks
[cirRc |/oracle/oradata/data2/DSILAPRD/circ_DSILAPRD_08.dbf | 19,191 | 3| 26.88] 1.03[ 4314 1| 1| 0.00 about equal and the slowness is about the same.
[cIRC [[oracle/oradataldata2/DSILAPRD/circ_DSILAPRD_09.dbf || 14,081 | 2[ 1773 1.04[ 4,008 1 o 0.00 27ms is well above the acceptabie@ms range.
[CLIENT |/oracle/oradata/datal/DSILAPRDIclient_DSILAPRD.dbf | 10| o 1.00 | 1.00 | 10 | 0| 0| 0.00 The AV READS/S shows 't
[CRONACLE lloracle/oradata/data2/DSILAPRDIcronacle_OL.dbf [ o of 2782 100[ 201 0 1] 0.00 B e A e e e
|CRONACLE_INDEX |/oracle/oradata/data2/DSILAPRD/cronacle_index_01.dbf | 856 0| 24.38 | 1.00 | 1,268 | 0| 0| 0.00 the files are on the same physical disk.
[DsI |/oracle/oradata/datal/DSILAPRD/dsi_DSILAPRD.dbf [ 18] 0| 2313 | 1.00 | 10 | 0| 0| 0.00
[PAPERTRAK |/oracle/oradata/datal/DSILAPRD/papertrak_DSILAPRD.db | 12| 0| 35.00 | 1.00 | 11| 0| 0| 0.00
|RBBIG |/oracle/oradata/data2/DSILAPRD/rbbig_DSILAPRD.dbf | 10 | o 59.00 | 1.00 | 10 | 0| o 0.00
[SECURITY |/oracle/oradata/datal/DSILAPRD/security_DSILAPRD.dbf | 630 | 0| 29.87 | 1.00| 203 0| 0| 0.00
|[SECURITY |/oracle/oradata/datal/DSILAPRD/security DSILAPRD_02. | 224 o 20.98 | 100 167 0| 0| 0.00
[SECURITY |/oracle/oradata/datal/DSILAPRD/security_DSILAPRD_03. |  522| o 20.33 | 1.00| 460 | 0| 0| 0.00
[SECURITY |/oracle/oradata/datal/DSILAPRD/security_DSILAPRD_04. | 326 | o 2104 1.00[ 155 o o 0.00
[sysaux |/oracle/oradata/datal/DSILAPRD/sysaux_DSILAPRDOL.dbf | 625 | o  21.95] 1.07| 1,416 0| 0| 0.00
[SYSTEM |/oracle/oradata/datal/DSILAPRD/sys_DSILAPRDOL.dbf | 1,964 o 8.27 | 101 138 0| 4 0.00
[TEMPORARY_DATA |/oracle/oradata/data3/DSILAPRD/tmp_DSILAPRDOL.dbf [ 20| o  34.00] 100 23] 0| 0|
|unDOTBS1 |foracle/oradata/datal/DSILAPRD/undo_DSILAPRDOL.dbf | 18| 0| 8.89 | 1.00| 51,679 | 7| 33 0.00
|USER_DATA |/oracle/oradata/datal/DSILAPRD/usr_DSILAPRDOL.dbf | 891 0| 0.18 | 1.00[ 18 0| 0| 0.00
|USER_INDEX01 |/oracle/oradata/data2/DSILAPRD/user_index01_01.dbf | 10| o 115.00 | 1.00 | 11 0| 0| 0.00

Back to IO Stats
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Buffer Pool Statistics

I standard block size Pools D: default, K: keep, R: recycle




i  Default Pools for other block sizes: 2k, 4k, 8k, 16k, 32k

ﬂ Number of Buffers | Pool Hit% | Buffer Gets | Physical Reads | Physical Writes | Free Buff Wait § Writ Comp Wait § Buffer Busy Waits

o 2,553,542 | 100/[1,350,336,573 | 255,882 | 164,474 |

Back to Top
Advisory Statistics

Instance Recovery Stats
Buffer Pool Advisory

PGA Aggr Summary

PGA Aggr Target Stats

PGA Aggr Target Histogram
PGA Memory Advisory
Shared Pool Advisory

SGA Target Advisory
Streams Pool Advisory
Java Pool Advisory
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Instance Recovery Stats

I B:Begin snapshot, E: End snapshot

Targt MTTR Estd MTTR Recovery Estd Actual Redo Target Redo Log File Size Redo Log Ckpt Timeout Redo Log Ckpt Interval Redo
(s) (s) 10s Blks Blks Blks Blks Blks

47182 | 612238 | 610879 | 3225600 | 610879 |

|_| 0 | 0 | 31034 | 572561 | 572558 | 3225600 | 572558 |

Back to Advisory Statistics
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Buffer Pool Advisory



9 Only rows with estimated physical reads >0 are displayed
1 ordered by Block Size, Buffers For Estimate

n Size for Est (M) Buffers for Estimate | Est Phys Read Factor | Estimated Physical Reads

| Comment [K23]:

BUFFER POOL ADVISORY

Learn to use this type of table. Oracle uses it quit
often to help you quickly do the math.

Start by looking for the row with SIZE
FACTOR=1.00. Thiss your current sizing. It show
that you have 2,562,805 buffers. With this numbe
buffers and with the SQL activity captured here,
Oracle estimates that
reads.

Now we can make the buffer size smaller (movin¢
up the tat#) or larger (moving down the table).

D 2,064 | 0.10 | 255,291 | 473 2,873,929,011
Bl 4,128 | 0.20 | 510,582 | 4.02 2,442,440,276
Bl 6,192 | 0.30 | 765,873 | 3.40 | 2,064,113,432
o] 8,256 | 0.40 | 1,021,164 | 2.86 | 1,738,914,254
Bl 10,320 | 0.50 | 1,276,455 | 2.41 | 1,461,738,107
o] 12,384 | 0.60 | 1,531,746 | 2.02 | 1,227,198,858
o 14,448 | 0.70 | 1,787,037 | 1.69 | 1,029,611,375
Bl 16,512 | 0.80 | 2,042,328 | 1.42 | 863,978,027
B 18,576 | 0.90 | 2,297,619 | 119 725,904,025
Bl 20,640 | 1.00 | 2,552,910 | 1.01 | 611,221,139
P 20,720 | 1.00 | 2,562,805 | 1.00 | 607,478,644
Bl 22,704 | 110 2,808,201 | 0.85 | 516,040,017
Bl p4,768 | 1.20 | 3,063,492 | 0.72 | 436,817,441
b 26,832 | 130 | 3,318,783 | 0.6 | 370,363,374
Bl 28,896 | 1.39 | 3,574,074 | 0.52 | 313,811,181
o] 30,960 | 1.49 | 3,829,365 | 0.44 | 264,577,469
o] 33,024 | 159 4,084,656 | 0.36 | 220,350,494
Bl 35,088 | 1.69 | 4,339,947 | 0.29 179,171,670
o] 37,152 | 1.79 | 4,595,238 | 0.23 | 139,546,813
o] 39,216 | 1.89 | 4,850,529 | 0.17 | 100,515,813
P 41,280 | 1.99 | 5,105,820 | 0.10 | 61,609,412

Back to Advisory Statistics
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PGA Aggr Summary

I PGA cache hit % - percentage of W/A (WorkArea) data processed only in-memory

PGA Cache Hit % | W/A MB Processed | Extra W/A MB Read/Written |

Comment [K24]:
INCREASING BUFFER POOL

Letds say we want to i
reduce the number of physical reads. What woulc
happen if we increased the buffer pool by 20%?

That would move us from the SIZE FACTOR line
1.00 to the SIZE FACTOR line of 1.20.

The table shows that Oracle estimates the numb
physical reads will now be 436,817,441.

But Oracle also does the math for you in the EST
PHYS READ FACTOR columrrhe value 0.72
means the number of physical reads will be 72%
what they were with the current settings.

Pretty neat, huh?

REMEMBERI tune your SQL first to make sure
youdre not doing physi
nevera good idea to tweak Oracsettings to
compensate for poorly written SQL




100.00 28,380 0

Back to Advisory Statistics
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PGA Aggr Target Stats

I B:Begin snap E: End snap (rows dentified with B or E contain data which is absolute i.e. not diffed over the interval)

I Auto PGA Target - actual workarea memory target

f  WIA PGA Used - amount of memory used for all Workareas (manual + auto)

%PGA W/A Mem - percentage of PGA memory allocated to workareas

1 %Auto W/A Mem - percentage of workarea memory controlled by Auto Mem Mgmt

%Man W/A Mem - percentage of workarea memory under manual control
I— PGA Aggr Target(M) | Auto PGA Target(M) | PGA Mem Alloc(M) § W/A PGA Used(M) | %PGA W/A Mem J %Auto W/A Mem {| %Man W/A Mem | Global Mem Bound(K)
B 5,120 | 3,900 | 1,104.26 | 77.13] 6.99 | 100.00 | 0.00 | 524,280
[E] 5,120 | 4,098 | 756.06 | 0.19 0.02 | 100.00 | 0.00 | 524,280

Back to Advisory Statistics
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PGA Aggr Target Histogram

f Optimal Executions are purely in-memory operations

2Kk 4K [ 1,675,649 1,675,649 | 0
[64K [128K | 17,140 | 17,140 | 0 | 0
[128K [256K | 12,534 | 12,534 | 0| 0
[256K [512K | 4,665 | 4,665 | o 0
[512K [1024K | 19,238 | 19,238 | o 0
[1m [2m | 3,381 | 3,381 o 0
[2m [am | 72| 72| 0| 0
[am Y | 8| 8| 0| 0




[sm [16M | 23| 23| o 0
[16M [32m | 16| 16| 0| 0
[32m [64m | 2| 2| 0| 0
[64m [128Mm | 4 4| o 0
[256M [512m | 1| 1| o 0

Back to Advisory Statistics
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PGA Memory Advisory

Y When using Auto Memory Mgmt, minimally choose a pga_aggregate_target value where Estd PGA Overalloc Count is 0

PGA Target Est (MB) W/A MB Processed | Estd Extra W/A MB Read/ Written to Disk § Estd PGA Cache Hit % § Estd PGA Overalloc Count

| 640 | 0.13 | 16,762,274.40 | 8,002,042.91 | 68.00 | 40,955
| 1,280 | 0.25 | 16,762,274.40 | 6,354,079.82 | 73.00 | 29
| 2,560 | 0.50 | 16,762,274.40 | 5,109,432.73 | 77.00 | 0
| 3,840 | 0.75 | 16,762,274.40 | 2,127,493.01 | 89.00 | 0
| 5,120 | 1.00 | 16,762,274.40 | 864,664.35 | 95.00 | 0|
[ 6,144 | 120 16,762,274.40 | 721,732.29 | 96.00 | 0
| 7,168 | 1.40 | 16,762,274.40 | 690,906.90 | 96.00 | 0
| 8,192 | 1.60 | 16,762,274.40 | 690,329.70 | 96.00 | 0
| 9,216 | 1.80 | 16,762,274.40 | 690,329.70 | 96.00 | 0
| 10,240 | 2.00 | 16,762,274.40 | 689,897.58 | 96.00 | 0
| 15,360 | 3.00 | 16,762,274.40 | 676,865.67 | 96.00 | 0
| 20,480 | 4.00 | 16,762,274.40 | 599,733.23 | 97.00 | 0
| 30,720 | 6.00 | 16,762,274.40 | 580,478.48 | 97.00 | 0
| 40,960 | 8.00 | 16,762,274.40 | 507,674.88 | 97.00 | 0

Back to Advisory Statistics
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Shared Pool Advisory

Comment [K25]:
PGA MEMORY ADVISORY

This table is similar to the Buffer Pool Advisory
table above.

The SIZE FACTOR 1.00 row shows the current

setting. It shows youbd
you move down the tabl@e. increasing PGA), the
cache hit ratio doesnbo

Oracle is telling you that with the current SQL
workload and the current SQL tuning, you will no
get any better cache hit ratio by adjusting PGA
memory.




I SP: Shared Pool Est LC: Estimated Library Cache Factr: Factor

I Note there is often a 1:Many correlation between a single logical object in the Library Cache, and the physical number of memory objects associated with it.
Therefore comparing the number of Lib Cache objects (e.g. in v$librarycache), with the number of Lib Cache Memory Objects is invalid.

Shared Pool SP Size Est LC Size Est LC Mem Est LC Time Saved | Est LC Time Saved | EstLC Load Time Est LC Load Time Est LC Mem Obj
Size(M) Factr (M) Obj (s) Factr (s) Factr Hits

| 13,760 | 0.60 | 2,385 | 531,003 | 1,146,254,045 | 053] 1,026,284,484 | 763.57 | 2,854,750,650
| 16,064 | 0.70 | 4,707 | 725,851 | 2,732,344,865 | 1.26 | 3,735,160,960 | 2779.02 | 16,451,255
| 18,368 | 0.80 | 7,042 | 946,642 | 4,089,252,247 | 1.88 2,378,253,578 | 1769.46 | 1,845,982,775
| 20,672 | 0.90 | 9,377 | 1,166,992 | 4,014,106,615 | 1.85 | 2,453,399,210 | 1825.37 | 3,185,247
| 22,976 | 1.00 | 11,712 1,388,195 | 2,171,194,472 | 1.00 | 1,344,057 | 1.00 | 64,738,013
| 25,280 | 1.10 | 14,047 | 1,610,200 | 3,010,150,094 | 1.39 | 1 0.00 | 146,055,729
| 27,584 | 1.20 | 16,383 | 1,831,471 | 365,713,243 | 0.17] 1| 0.00 | 234,311,779
| 29,888 | 1.30 | 18,718 | 2,052,999 | 3,873,644,003 | 1.78 | 1 0.00 | 371,151,121
| 32,192 | 1.40 | 21,053 2,276,600 | 1,461,117,307 | 0.67 1| 0.00 | 3,185,251
| 34,496 | 1.50 | 23,388 2,494,773 | 3,733,181,392 | 1.72 | 1 0.00 | 20,554,395
| 36,800 | 1.60 | 25,723 2,715,820 | 3,702,460,107 | 1.71 | 1| 0.00 | 58,296,950
| 39,104 | 1.70 | 28,058 | 2,935,949 | 3,994,391,245 | 1.84 | 1 0.00 | 162,476,521
| 41,408 | 1.80 | 30,393 | 3,156,743 | 1,050,891,283 | 0.48| 1| 0.00 | 122,430,879
| 43,712 1.90 | 32,728 3,379,123 | 2,161,568,614 | 1.00 | 1 0.00 | 30,538,819
| 46,016 | 2.00 | 35,063 | 3,598,986 | 1,182,289,372 | 0.54 | 1| 0.00 | 24,856,198

Back to Advisory Statistics
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SGA Target Advisory

| 22,016 | 050 1,097,740,041 | 1,455,214,914
| 33,024 | 0.75|  1,091,337,450 | 607,478,570
| 44,032 | 1.00 | 13,114,688 | 607,478,570
| 55,040 | 1.25 | 10,199,293 | 221,425,939
| 66,048 | 1.50 | 9,839,950 | 51,574,931
| 77,056 | 1.75 | 9,839,950 | 51,574,931
| 88,064 | 2.00 | 9,839,950 | 51,574,931




Back to Advisory Statistics
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Streams Pool Advisory

No data exists for this section of the report.

Back to Advisory Statistics
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Java Pool Advisory

Java Pool JP Size Est LC Size Est LC Mem | EstLC Time Saved | EstLC Time Saved Est LC Load Time Est LC Load Time Est LC Mem Obj
Size(M) Factr (M) Obj (s) Factr (s) Factr Hits

| 32| 0.29 | 15 322 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 48| 0.43| 18| 403 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 64 | 057 18 | 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 80 | 0.71 | 18 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 9% | 0.86 | 18| 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 112 | 1.00 | 18 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 128 | 114 18| 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 144 | 1.29 | 18| 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
[ 160 | 1.43 18 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 176 | 157 | 18| 403 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 192 | 171 18| 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 208 | 1.86 | 18| 403 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
| 224 2.00 | 18| 403 | 2,456 | 1.00 | 1,344,057 | 1.00 | 30,281
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Wait Statistics

|  Buffer Wait Statistics
Engueue Activity




Back to Top

Buffer Wait Statistics

I ordered by wait time desc, waits desc

Total Wait Time (s) § Avg Time (ms)

[2nd levelbmb [ 3| of 3
[undoblock [ 17| o 0
|undo header | 16 | 0 | 0
|1stlevelbmb | 15 0| 0
|data block | 15 | 0 | 0

Back to Wait Statistics
Back to Top

Enqueue Activity

9 only enqueues with waits are shown

I Enqueue stats gathered prior to 10g should not be compared with 10g data

I ordered by Wait Time desc, Waits desc

Enqueue Type (Request Reason) Failed Gets Wt Time (s) . .

[uL-User-defined| [ 1,526 | 1,506 | 20| 32 17 536.88
[TC-Tablespace Checkpoint | 6 | 6 0| 2 11 5,645.00
[cF-Controlfile Transaction | 5,591 | 5,591 | o 4| o 27.50
[AU-Audit index file (audit index file) | 15 15| o 3| o 16.67
[35-Job Scheduler (queue lock) [ 27016 27,016 o 1 o 0.00

Back to Wait Statistics
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Undo Statistics

Y Undo Segment Summary

Comment [K26]:
ENQUEUE WAIT TIME
The lig is ordered by TOTAL enqueue wait time

which could be many, many waits each very, ven
short or very, very few waits each very, very long

\ | Look at the AV WT TIME column

| comment [K27]:

ENQUEUES

Use Google to find out what the enqueneans for
those with high WT TIME




f  Undo Segment Stats

Back to Top
Undo Segment Summary

Min/Max TR (mins) - Min and Max Tuned Retention (minutes)

STO - Snapshot Too Old count, OOS - Out of Space count

Undo segment block stats:

uS - unexpired Stolen, uR - unexpired Released, uU - unexpired reUsed
eS - expired Stolen, eR - expired Released, eU - expired reUsed

Undo TS# | Num Undo Blocks (K) | Number of Transactions | Max Qry Len (s) | Max Tx Concurcy § Min/Max TR (mins) | STO/ OOS | uS/uR/uU/ eS/eR/eU

| 90.22 | 78,408 | 2,476 | 6 [0/180 oo orororor010

=A =8 =4 -a -

Back to Undo Statistics
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Undo Segment Stats

 Most recent 35 Undostat rows, ordered by Time desc

. Max Qry Len (s) | Max Tx Concy | Tun Ret (mins) | STO/ OOS || uS/uR/uU/ eS/eR/eU | comment [K28]:

[19-Oct 16:08 | 1,605 | 1,344 | 1,161 | 4| 180 [0/0 [oror0/0/0/0 DISTRIBUTION OF WORKLOAD

[19-Oct 15:58 | 5,602 | 1,558 560 | 4| 180 [0/0 o/o/0/0/070

[19-Oct 15:48 | 1,69 | 12,323 | 2,108 | 4| 180 [o/0 [osor0r0/010 ;’t‘; \2‘("?&%%?3:}?:‘{(?‘; gr‘rflzf\}gmgg snapshc

[19-Oct 15:38 | 6,309 | 5,596 | 1,509 | 5| 180 [0/0 [oror0/0/0/0 ’ ’

[19-Oct 15:28 | 2,939 | 1,593 | 1,594 | 4| 180 [0/0 |ororo/0/0/0 This table shows the number of transactions
executed every 10 minutes. Based on this table,

|19-Oct 1518 | 2,065 | 1507 | 1,691 4 180 [0/0 lo/o/o/o/o/o considerunning ASH reports for 15:38 for 10

[19-Oct 15:08 | 8,792 | 9,588 | 1,001 | 6| 180 [0/0 |oror0/0/0/0 minutes and 14:38 for 10 minutes to drill deeper i
the heavy periods.

[19-Oct 14:58 | 4,667 | 1,966 | 1,771 | 6| 180 [0/0 |oro/o/0/0/0

[19-Oct 14:48 | 8,857 | 22,813 | 1,168 | 5| 180 [0/0 [oror0/0/0/0

[19-Oct 14:38 | 2,859 | 1,526 | 2,476 | 4| 180 [0/0 |oror0/0/0/0

[19-Oct 14:28 | 2,711 | 8,964 | 1,631 | 6| 180 [0/0 [oror0/0/0/0

[19-Oct 14:18 | 39,337 | 7,275 | 2,311 | 4 180 [0/0 [oror0/0/0/0




[19-Oct 14:08 | 2,780 | 2,355 | 1,710 | 4 180 [0/0 [oror0/0/0/0
[22-Oct 14:20 | 0| 0| 0| 0| 0 [o/0 |o/oror0/010

Back to Undo Statistics
Back to Top

Latch Statistics

I Latch Activity
| Latch Sleep Breakdown
Y Latch Miss Sources
i Parent Latch Statistics
{  child Latch Statistics
Back to Top
P | Comment [K29]:
Latch Activity| )
LATCHES
f "GetRequests", "Pct Get Miss" and "Avg Slps/Miss" are statistics for willing-to-wait latch get requests | use this table to help investigate issues | may h:
T "Nowait Requests”, "Pct NoWait Miss" are for no-wait latch get requests found elsewhere in the report

f  "Pct Misses" for both should be very close to 0.0

[ASM db client latch [ 4,790 | 0.00 | | | 0|
[AWR Alerted Metric Element list [ 55,573 | 0.00 | | 0| 0|
|Consistent RBA [ 30,966 | 0.03 | .00 | 0| 0|
|FAL request queue | 164 | 0.00 | | 0 | 0 |
[FAL subheap alocation [ 164 | 0.00 | | 0| 0|
[FIB s.0 chain latch [ 2,064 | 0.00 | | 0| 0|
[FOB s.0 list latch [ 18,925 | 0.01| 0.00 | 0| 0|
[In memory undo latch [ 502,185 | 0.00 | 0.75 | o 60,659 | 0.00
[JOX SGA heap latch [ 235 | 0.00 | | 0| 0|
[3S Sh mem access [ 38| 2.63] 1.00 | 0| 0|
[35 mem alloc latch [ 67 0.00 | | 0| o
|JS queue access latch | 67 | 0.00 | | 0 | 0 |




35 queue state obj latch [ 54,032 | 0.00 | | 0| 0|
|35 slv state obj latch [ 190 | 0.00 | | 0| 0|
[KMG MMAN ready and startup request latch | 3,751 | 0.00 | | 0| 0|
[KMG resize request state object freelist [ 36 | 0.00 | | 0| 0|
[KTF sga latch [ 24 | 0.00 | | 0| 2,033 0.00
[KWQMN job cache list latch [ 12 0.00 | | 0| 0|
[MQL Tracking Latch [ 0| | | 0| 144 | 0.00
[Memory Management Latch [ 1,722 | 0.00 | | 0| 3,751 | 0.00
[0S process [ 5,367 | 0.00 | | 0| 0|
|0S process allocation [ 5,946 | 0.00 | | 0| 0|
]OS process: request allocation | 3,468 | 0.00 | | 0 | 0 ]
[PL/SQL warning settings [ 173,242 | 0.00 | | 0| 0|
|[SGA 10 buffer pool latch [ 2,986 | 0.00 | | 0| 4,944 | 0.00
[SQL memory manager latch [ 2| 0.00 | | 0| 2,371 0.00
[SQL memory manager workarea list latch | 592,400 | 0.00 | 0.00 | 0| 0|
[Shared B-Tree [ 268 | 0.00 | | 0| 0|
[X$KSFQP [ 105 | 0.00 | | 0| 0|
[active checkpoint queue latch [ 4,175 | 0.00 | | 0| 0|
[active service list [ 24,183 | 0.01 | 0.50 | 0| 2,534 0.00
|archive control | 1,085 | 0.00 | | 0 | 0 |
[archive process latch [ 2,721 | 0.00 | | 0| 0|
]begin backup scn array | 92 | 0.00 | | 0 | 0 |
[buffer pool [ 465 | 0.00 | | 0| 0|
[cache buffer handles [ 28322589 0.01 | 0.03 | 0| o
[cache buffers chains [ 1,826,155,838 0.00 | 0.01| 0| 968,875 | 0.01
[cache buffers Iru chain [ 846,144 | 0.05 | 0.04 | 0| 791,831 | 0.04
|cache table scan latch | 0 | | | 0 | 1,541 | 0.00
[channel handle pool latch [ 5,754 | 0.03| 0.00 | 0| 0|
[channel operations parent latch [ 65,584 | 0.04 | 0.00 | 0| 0|
[checkpoint queue latch [ 531,257 | 0.00 | 0.00 | 0| 274,224 0.00
[client/application info [ 35,476 | 0.00 | | 0| 0|
]compile environment latch | 1,901 | 0.00 | | 0 | 0 |
[dmI lock allocation [ 330,739 | 0.00 | 0.00 | 0| 0|
[dummy allocation [ 3,836 | 0.00 | | 0| 0|




lenqueue hash chains [ 813,590 | 0.00 | 0.00 | 0| 804 | 0.00
lenqueues [ 393,194 | 0.00 | 0.20 | 0| 0|
levent group latch [ 1,717 | 0.00 | | 0| 0|
[file cache latch [ 963 | 0.00 | | 0| 0|
|global KZLD latch for mem in SGA [ 1,669 | 0.00 | | 0| 0|
[hash table column usage latch [ 1,056 | 0.00 | | 0| 1,201,515 | 0.00
[hash table modification latch [ 235 | 0.00 | | 0| 0|
|job workq parent latch | 0 | | | 0 | 372 | 0.00
|job_queue_processes parameter latch | 296 | 0.00 | | 0 | 0 |
kks stats [ 274,924 | 0.02 | 0.02 | 0| 0|
[koke descriptor allocation latch [ 130 0.00 | | 0| o
[krbmrosl [ 1,181 | 0.00 | | 0| 0|
[ksuosstats global area [ 484 | 0.00 | | 0| 0|
[ktm global data [ 2,275 | 0.00 | | 0| 0|
[kwgbsn:gsga [ 268 | 0.00 | | 0| 0|
[lgwr LWN SCN [ 31,136 | 0.00 | | 0| 0|
[library cache [ 21,380,071 0.55 | 0.74 | 41 | 248,932 | 11.69
[library cache load lock [ 1,640 | 0.00 | | 0| 0|
[library cache lock [ 7811,237] 0.00 | 0.06 | 0| o
[library cache lock allocation [ 61,553 | 0.00 | | 0| 0|
[iibrary cache pin [ 9,147,874 0.00 | 0.04 | 0| 0|
[library cache pin allocation [ 126,450 | 0.00 | | 0| o
[list of block allocation [ 11,360 | 0.00 | | 0| 0|
]Ioader state object freelist | 2,362 | 0.00 | | 0 | 0 |
|Iongop free list parent | 5,198 | 0.00 | | 0 | 34 | 0.00
[message pool operations parent latch [ 4,530 | 0.07 | 0.00 | 0| 0|
[messages [ 145,429 | 0.00 | 0.00 | 0| 0|
[mostly latch-free SCN [ 31,209 | 0.02 | 0.00 | 0| 0|
[multiblock read objects [ 6,548 | 0.00 | | 0| 0|
|nc0def allocation latch | 127 | 0.00 | | 0 | 0 |
|object queue header heap | 21,075 | 0.00 | | 0 | 4,518 | 0.00
[object queue header operation [ 1,570,891 | 0.00 | 0.19 | 0| 127,472 | 0.00
|object stats modification [ 4,446 | 0.00 | | 0| 0|
[parallel query alloc buffer [ 952 | 0.00 | | 0| 0|




[parameter list [ 3,733 0.00 | | 0| 0|
[parameter table allocation management | 2,007 | 0.10 | 0.50 | 0| 0|
[post/wait queue [ 16,250 | 0.00 | | 0| 9,938 | 0.00
[process allocation [ 3,468 | 0.12] 1.00 | 0| 1,717 | 0.00
|process group creation | 3,468 | 0.00 | | 0 | 0 |
|qmn task queue latch | 1,024 | 0.00 | | 0 | 0 |
[redo allocation [ 7,853,975 | 0.06 | 0.01| 0| 0|
[redo copy [ o | | 0| 7,672,177 | 0.00
[redo writing [ 101,840 | 0.00 | 0.00 | 0| 0|
[row cache objects [ 16,686,586 | 0.02 | 0.01 | 0| 0|
]sequence cache | 290,957 | 0.00 | | 0 | 0 ]
[session allocation [ 9,652,191 | 0.17 0.01| 0| 0|
|session idle bit [ 1,435,812 | 0.00 | 0.00 | 0| 0|
|sessi0n state list latch | 7,606 | 0.00 | | 0 | 0 |
[session switching [ 127 0.00 | | 0| 0|
[session timer [ 2,533 0.00 | | 0| 0|
[shared pool [ 3,365,665 | 0.05 | 1.12 | 17| 0|
[shared pool simulator [ 21,965,836 | 0.01 | 0.07 | 3| 0|
[simulator hash latch [ 99,751,220 0.00 | 0.01 | 0| o
[simulator Iru latch [ 167,525 | 0.37 0.00 | 0| 99,539,572 | 0.12
]slave class | 4 | 0.00 | | 0 | 0 ]
]slave class create | 16 | 0.00 | | 0 | 0 I
[sort extent pool [ 15,810 | 0.13] 0.33] 0| 0|
]state object free list | 4 | 0.00 | | 0 | 0 ]
|statistics aggregation | 1,120 | 0.00 | | 0 | 0 |
[temp lob duration state obj allocation [ 5| 0.00 | | 0| 0|
|temporary table state object allocation | 2,210 | 0.00 | | 0 | 0 |
[threshold alerts latch [ 1,005 | 0.00 | | 0| 0|
[transaction allocation [ 503,605 | 0.00 | | 0| 0|
|transaction branch allocation | 2,533 | 0.00 | | 0 | 0 |
[undo global data [ 515,822 | 0.00 | | 0| 0|
user lock [ 7,570 | 0.00 | | of o
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Latch Sleep Breakdown

|  ordered by misses desc

Latch Name Get Requests Spin Gets | Sleepl | Sleep2 | Sleep3

[library cache [ 21,380,071 [117,929 | 87,074 35,827 o 0| 0
|session allocation | 9,652,191 16,072 110 15971 0 0| 0
[cache buffers chains | 1,826,155,838 | 13,965 201| 13,775 o o 0
[redo allocation | 7,853,975 4,985 40 | 4,947 | o 0| 0
[row cache objects | 16,686,586 | 2,953 27 2,927 | 0| o 0
[cache buffer handles [ 28322589 2,198 59 | 2,140 | o 0| 0
shared pool | 3,365,665 1,570 1,751 1,001 | o 0| 0
|shared pool simulator | 21,965,836 1,241 82 | 1,162 | 0 0| 0
[simulator hash latch [ 99,751,220 860 12 849 | o 0| 0
[simulator Iru latch | 167,525 622 1 621 | o 0| 0
[cache buffers Iru chain | 846,144 451 17 435 | o 0| 0
[library cache pin | 9,147,874 387 16 | 372 | o 0| 0
[library cache lock [ 7811237 348 22 326 | o| o 0
|object queue header operation | 1,570,891 | 70 | 13 | 58 | 0 | 0 | 0
kks stats | 274,924 | 58 | 1| 57 | 0 0| 0
[sort extent pool | 15,810 | 21 7] 14 o o 0
[enqueues | 393,194 | 10 2| 8| o 0| 0
[In memory undo latch | 502,185 | 8| 6| 2| o 0| 0
|process allocation | 3,468 | 4 | 4 | 0 | 0 | 0 | 0
[active service list | 24,183 | 2 1 1 o 0| 0
[parameter table allocation management | 2,007 | 2| 1| 1| 0| 0| 0
[3S Sh mem access | 38| 1 1 0| o 0| 0
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Latch Miss Sources

' only latches with sleeps are shown
I ordered by name, sleeps desc

Latch Name NoWait Misses Waiter Sleeps

[In memory undo latch |tiFlush: child | 0| 1
[In memory undo latch |[ktiemt: child | 0| 1 | 2
[3S Sh mem access isksGetshMemLatch | 0| 1 1
[active service list [kswsgsnp: get service name ptr | 0| 1| 0
|cache buffer handles |kcbzgs | 0 | 48 | 37
|cache buffer handles |kcbzfs | 0 | 11 | 22
|cache buffers chains |kcbgtcr: fast path | 0 | 131 | 60
|cache buffers chains |kcbgtcr: kslbegin excl | 0 | 91 | 93
[cache buffers chains [kcbzgb: scan from tail. nowait | 0| 44 | 0
[cache buffers chains [kebchg: ksibegin: bufs not pinned | o 24| 40
|cache buffers chains |kcbrls: kslbegin | 0 | 24 | 84
[cache buffers chains [kebgeur: kslbegin | 0| 9| 9
|cache buffers chains |kcbget: pin buffer | 0 | 2 | 6
[cache buffers chains [kebzwb | 0| 2| 3
[cache buffers chains [kcbnew: new latch again | 0| 1| 0
|cache buffers Iru chain |kcbzgws | 0 | 13 | 0
[cache buffers Iru chain [kebbwiru | 0| 3| 0
|cache buffers Iru chain |kcbw_quiesce_granule | 0 | 1 | 1
|enqueues |ksqdel | 0 | 1 | 1
|enqueues |ksqgel: create enqueue | 0 | 1 | 0
|kks stats |kks stats alloc/free | 0 | 1 | 1
[library cache [kglic | 0 80,942 | 176
[library cache [kglScanDependency | o 3471 1
|Iibrary cache |kg|pnd|: child: after processing | 0 | 316 | 489
[library cache [kglpnp: child | o 283 21,007
|Iibrary cache |kg|hdgn: child: | 0 | 223 | 423
[library cache [kglLockCursor | 0| 168 | 21,350




[library cache [kginti | ol 162 0
[library cache [kglpin | o 121 1,049
[library cache [kglobpn: child: | 0| 98| 9,201
[library cache [kglpndi: child: before processing | 0| 58 | 26,571
[library cache kgldti: 2child | 0| 38| 295
|Iibrary cache |kg|hdgc: child: | 0 | 17 | 2
|Iibrary cache |kglati | 0 | 11 | 1
|Iibrary cache |kgldte: child 0 | 0 | 9 | 493
[library cache [kglukp: child | 0| 4| 10
[library cache [kgirt | 0| 3| 1
|Iibrary cache lock |kg||kd|: child: no lock handle | 0 | 201 | 5,921
[library cache lock [kglikd: child: cleanup | 0| 12 12
[library cache lock [kglikal: child: multiinstance | 0| 10 | 10
|Iibrary cache pin |kg|pnd| | 0 | 9 | 7
[library cache pin [kglpnp: child | 0| 5| 2
[library cache pin [kglpnat: child: alloc space | 0| 2| 7
|object queue header operation |kcbo_switch_cq | 0 | 8 | 6
[object queue header operation [kebo_ivbo | 0| 7| 0
|object queue header operation |kcbw_|ink_q | 0 | 5 | 6
|object queue header operation |kcbw_un|ink_q | 0 | 2 | 6
|parameter table allocation management |ksp_param_bable_free | 0 | 1 | 0
]process allocation |ksucrp | 0 | 4 | 0
|redo allocation |kcrfw_redo_gen | 0 | 40 | 38
]row cache objects |queqd: reget | 0 | 14 | 0
|row cache objects |qupre: find obj | 0 | 8 | 23
[row cache objects [kareqd | 0| 5| 3
|session allocation |ksuxds: KSUSFCLC not set | 0 | 33 | 1
[session allocation [ksufap: active sessions | 0| 24 0
|session allocation [ksuprc | 0| 20 | 47
|session allocation |ksudlc | 0 | 18 | 60
|sessi0n allocation |ksucri | 0 | 8 | 0
]session allocation |kspallmod | 0 | 3 | 0
|sessi0n allocation |ksucrp | 0 | 3 | 0
|session allocation [ksudip | 0| 1| 0




|shared pool |kgh_next_free | 0 | 1,330 |
shared pool [kghfrunp: clatch: nowait | o 902
shared pool [kghfrunp: alloc: wait | o 241
[shared pool [kghalo | 0| 86 | 207
shared pool [kghupr | 0| 50 | 1,335
|shared pool |kghfrunp: clatch: wait | 0 | 47 | 80
|shared pool |kghfre | 0 | 18 | 198
|shared pool |kgh: add extent to quiesced list | 0 | 9 | 0
[shared pool [kghfrh | 0| 8| 0
[shared pool [kgh: quiesce extents | 0| 5| 1
[shared pool [kgh: sim resz update | o 3| 0
|shared pool |kghasp | 0 | 1 | 0
|shared pool simulator [kglsim_upd_newhp | 0| 47 | 0
|shared pool simulator |kglsim_unpin_simhp: fast path | 0 | 26 | 75
|shared pool simulator |kg|sim_unpin_simhp | 0 | 6 | 0
[shared pool simulator [kglsim_chg_simhp_free | 0| 1| 0
|shared pool simulator |kglsim_chg_simhp_inval | 0 | 1 |
[shared pool simulator [kglsim_scan_lru: scan | 0| 1|
|simu|ator hash latch |kcbsacc: lookup dba | 0 | 9 | 12
|Simu|ator hash latch |kcbs_|ookup_setid: lookup dba | 0 | 3 |
|simu|ator Iru latch |kcbs_simulate: simulate set | 0 | 1 |
|sort extent pool |ktstdt: dealloc sort extent | 0 | 7 |

Back to Latch Statistics

Back to Top

Parent Latch Statistics

No data exists for this section of the report.
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Child Latch Statistics




























